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p H pH p H p| H pH pH
1 8.pb8 3168 [1.|5 0.]10 %5./2 |4 1Bp. 2 0.50/8.489.80 2p. 1 0[.40|9. 4.7y 2. 8§ 6/.D67.30119./]5 0.0
2 1.0 7.8{2.8 |2. 1p. 9 .50.B.|22% 1F. 8§ 0.0 0.]0 7.86./2 4.1 2.9 9.D27.204119./3 0.0
3 1.]0 0.]0 3.9 |4 iy.9 0.0 0.]0 7.7/%./3 |5. 2.7 0.0 9.15
4 8.08 2. ip. 7 8.0 2315 0.]10 . 2(% .4 (4. 2p. 2 1455671489 2.8 0.0 31}t 5
5 7.86 2. ip.§ 1.0 0.]10 6.]10 .22%6./1 (5.1 2p.§ 1/..5|9.843 2p. 2 0.70/7 .19 1.9 0.0
6 7.8B5 2. 1.8 0.3068.461 1p. § .50./B.|8.84 1B. 3 0/.50/3.250 2p. 2 0.0 0.J]0 7.71%5./9 6.2 1p. 7 0.0
7 7.86 2. 1p. g 22. 9§ 0.]10 25 .12 |5 1B. 4 2.55.|3.853 2p.§ 0.0 0.]0 7.8/3%./8 |5. 2p.0 0.5
8 7.80 2. 1p. 2 0.0 0.]10 2.1 4.7 1Bp. 1 2.50|®@.4290 2p. 9 0/.600.3890 2p. 5 0/.60/7.853 2p. 0 13.0
9 0.]10 . 0[34./0 |2.4 1p. 9 508 . D39 1B. 4 2.5 6.]0 7.9%./4 5.2 2p. 7 0.50|8.855 2p.3 2.5
10 0.]0 7.94Q./6 2628 [2./0 77592 5.1 1.3 0.0 0.]10 .0/45./6 |5.4 2Pp. 8§ 75. 9§ 0.]10
111(7.71 2227 [0.|0 738" |2. iy. ¢ .5 0.]10 L1347 |13.1 2.4 0.0 0.]5 0.]10
12 (7.75 2238 |0.|0 71397 [2.4 1p. 9 .0 1.]0 . 0(14 .7 |2. 2.5 0.60/0.®891 2pPp. 7 0[.50|9.826 2p. 2 5.0
13 (7.78 22% 8 [3.|0 7398 |2. 1y. 9§ 50| @ .|4.68 1B. 7 5840681207 2.2 2.5 0.]0 7.8/%./1 |4. 2p.3 37.0
14 17.p9 1269 255 0.]10 3.9 |5 1Bp.§ 0.40/4.215 2.2 21.0 0.]0 7.82%./0 4.2 2p.2 1.0
151|7.p6 1385 (0.|0 0.]10 %./2 5.4 1B. § 00.50.|0.2.7 2. 3 4|.55\5.|4.67 2p. 5 4/.50/8.5%60 2p. 2 12.0
16 0.]10 . 0/83./6 |2.747 |0./0 8502 |4 1B. 7 4.0 0.]0 7. 7|76.13 |5. 2p. 5 2065171672 1p. 9 0.0
17 4.15 . 0|75./1 |476 7 |10/0 597 |4 1B. 7 0.5 0.]0 7.8/16./3 |4. 2p. 4 0.5 0.]10
18 (7.73 2401 (0.|0 7.39® |3. 1y. 9§ .0 0.]10 0.]0 7.8/8./9 |4. 2p.§ 12.¢ 1.]0
19 (7.84 2403 |0.]0 7392 |3. 1y. 8§ .0 0.]0 7.77./0 3.4 2.1 O0[.60|5.856 2pPp. 3 3.0 330
20 1|7.f9 1482 |0.|0 83002 |4. 1y. 8§ 40|88 .|D.36 1p. 3 0[.55|0.8.03 2.3 3.5 60f01|7.78./6 5.2 1p. 4 92.5
211|7.84 149 3 [4.]5 0.]0 % .0 4.7 1p. § 81.50|7.B72 2.4 28.0 0.5 7.78./2 9.1 1.9 1.5
22 17.83 2406 [0.|0 0.]0 2.0 |4 1p. 4 0.45|6 .01 2[1. 5 28601747 221 5Q 3210
23 0.]0 . 3/64./1 8812 |0./0 409 4.1 1p. § 4.0 0.]10 7. 7/429 2 1.2 |0. 0172 721 01707 22.0
24 0.]5 . 504./1 3885 0.0 502 4.4 1p.§ 1.5 0.0 7. 5|63 2 o7 |0. 1210
25 1|7.f3 1479 [0.|0 8442 |6. 1B. (¢ .0 1.5 7.6{75./0 |3. 2.2 0.247 .3660R21.|/8 |0. 0.]10
26 |7.80 2502 |0.|0 8442 |6. 1B. 1 .0 0.]0 7.74./2 3.2 2.2 1. 7.263R0.|3 |0.087{47002|17.6 0.0
27 1|7.86 2534 |0.|5 8.440 |6. 1B. 3 503 .969 1p. 8§ 0/.50/F.B8338 2.0 0.0 204 01(7.783./5 9.4 1F.3 0.0
28 |7.f3 1562 (235 0.]0 7.2 5.2 1p.7 175517{26&% 2.2 0.0 13} 5(7.78./9 (7.9 1fy.8 0.5
29 0.]10 0.]10 0.9 4985 |0.|0 7478 |2. 4 2.2 0/.D17858|20[. 8|13,D.|0.830 1.0 1.0
30 0.]10 . 3|75./0 4799 |14/5 B529 5.1 1p. § 0.0 0.]0 7. 6|51 13 R0.|6 34./%.77 7%. 1p.0 0.0
31 8.B6 |4./8 |4840 .19 1.0 7. 7814 29 pRO. 0/

8.pb8 3564 [25)5 B5.5D |6. 1B. 5 235548154% 1p. § 586018539 2. § 28 3® 86242218589 | 1 20, 3192.5

7.66 1167 [0.|0 7.28/B |2. 1p. 9 .40.|9 .|®.76 1. § 0|.40|4.B64 2p. 1 0[.40|9.4660 2p. 1 0}.407.642 1.3 0.0

7.84 2324 (8.1414./0 (3.9 1p8.514 |5./1 |4 1p7..809 |5./0 3.4 2p7..079 | 1 14 R1|B. |77 |7./2 9.1 1p. 2

9710 7145 11q. 1172 494.0 307. 5
pPH - () mn)
pH 3 2



10 1 12 1 2 3

p H pH p H pH pH pH
1 0.]0 7. 7|93. 4515 |7.10 713712 2.7 1.7 14.9§ 0.]10 . 3|83 .11 |3. .90 0, . /61 §.
2 0.]0 7. 8/3. 3.9 1p. 2 0.35|/9.8326 1.6 0.0 0.]0 7.9|72.18 |3. .6 0, a. %02 §.
3 7.[79 | 4.2 |5. 1.4 2.0 1.]0 0.]10 0.]10 .12 .16 |3. .50 0, 2. B7 q.
4 7.B5 (4.2 |4. 1y.9 0.40|0.841 1p. 9 0.0 0.]5 7.80./4 3.2 §.6| 0,0 .10 0.
5 7.B5 (3.8 |4. 1.4 0.5 0.]0 7.80./5 2.9 1p.§ 1/.30|3F.F.72 §.2| 0,0 .10 0.
6 7.7 3.9 |4. 1.4 0.5 0.0 7.88./6 2.7 1p.§ 0.30|7.3B3 g.3 0/8.®. B0 .0l 0|02 B2 9.
7 7.80 | 4.0 |4. iy.9 0.30/3.3822 1p. 1 0.30|9.F.71 1.3 0.0 0.]10 L3227 (4. L1l 002 M2 9.
8 1710 (7 3. 3. 1p. 4 0.30|¢.749 1.2 0.0 2810 1(8.53./0 4. .1 0] 0.2 W4 q.
9 16} 5 |7 9. 3.2 1p.3 2/.309.362 1p. 8§ 0.0 7.15 .49 (4. .20 4100 @M1 9.
10 0.]0 7. 9|13. 3399 |1.]5 0.0 7. 772,18 3.1 7.6 0/8. 2 M7 .0l 1)8.®. @#1 9.
11 |7.78|4./8 8746 [0./0 749 5. 1p. 9 5 q 0.]0 7.78&./8 2.9 7.5| 00 .10 0.
12 (7.80 |4./2 |4a764]0.|0 0.]0 7.80./3 |3 ip.§ 0.30|%.48 8.6/ 0,0 .10 0.
13 (7.73 4.7 @703 ]0.|0 0.]0 7. 8.4 3. 1p. 3 4.35|9.45 g.5 0/8.8. 86 .10 0, .&.Faoa 9
14 |7.78|4./]9 |&721 0.0 749 4.1 1B. 4 3/.3|3.368 1p. q 2 q 0.]10 . 4|63 .11 |4. .3 0, .&.%6 9
15 0.]0 7. 9|8. 3365 (0.5 7.271®@ |3 9.4, 0,0 0.]10 . 428 ./6 |5. .10 0, .&.#61 9
16 0.]0 7. 8&4. 3383 [0.|0 71278 |2 9.5/ 0/8. 4. B29 7.9 0|8.8. 48 .10 0, .&.#9 9
17 |7.82|3./8 [4692 (7.5 748 3.1 1B. 3 0.0 0.]0 7.828./13 |4. 1.7 0/8.8. B8 .31 0, .8).&0 9
18 (7.83 3.7 [4625 |0.|5 7.49 3.4 1p. 7 0.0 0.0 7.86./2 3.1 .5 0,0 .10 0.
19 (7.85|3./6 |[4634]0.|0 9.5 7. 718&8.|3 |3 9.5/ 0/8.1. 892 §.6| 0,0 .10 0.
20 |7.B4|3./]6 4630]0.0 0.]0 7. 76./8 |3 9.2 0/8. BOo4 §.7| 0,)8.8. 84 . 6| 3, 0.
21 |7.B6|3./4 |a661[0.]0 7.38 2.9 1B. 3 103587137% 9.3 0,0 0.]10 . 4B .4 (4. . 8 0, . BOo 1
22 0.]0 7. 7/14. 3370 |3./0 713714 |3 9. 219 5 0.]10 . 5|13./5 |4. .9 0104 B41 9.
23 0.|lo 0.|lo 7.]0 0/43.[3 |3 q. 4| 0/8.%5. B4 .2l o0, 8. m709 3
24 1|7.87 (3.3 |2695 0.0 7.37 3. 1p. ¢ 19.40 0.]0 7.9%8./]2 3.9 §.1] 0/8./&. A1 .6 0, ®. 269 1
25 |7.B4|3./4 |2692 0.0 7.38 3. igp. 2 0.0 0.]10 0% .12 |3 q.3 00 .10 0.
26 |7.B9|3./5 |a633[0.0 0.]0 7.824./2 4.2 9.2 0/8.8. B7 .1 00 .10 27
27 |7.B1|3./8 |[a676[0.0 5.5 7. 7% .4 |4 9. 5|13|.30 D4 q.2| 0/8.® B7 .6 0, ”. 299 9.
28 |7.B7 |3./]7 |[4558 6.0 7.47 4. 1p. 4 5.40|7 .42 9.1 00 0.]10 . 6/3./8 |5. .6 0, 0. B7 9.
29 0.]0 7. 7/43. 4143 ]0./0 0.|lo 0. 8.D05 9 (3.1 1
30 1.0 7. 7|63. 31836 (0.|0 0.]10 343./5 3.9 §.6 8.03 9 3.1 1
31|7.83 (3.3 |a505 .10 0.]10 443 .13 3.9 .8 7.P5 1 3. 1
7.B9 |4./9 @821 |17 (0 4. 5. 1p. 5 5140771488 1.7 29305814448 §.6|28.30.8.5.7 .6 410.8. B2 1
7.[73 (3.3 |2595]0.(0 737 2.9 1.2 0209 .|Z72 9.1 0/2.B. 25 q. 1 0/R./®. B7 .5/ 0/8.m. 249 4.
7.B2(3./9 4649 |7.84 |3. 3.7 1pr..378 |3./6 |3 1pr..2023 |3./2 3 n82pn3 |3./12 |4. 84pR3 1 3. 9
51} 5 119 8910 35} 5 e 90

pH

8. 67 3|0 6222.8 221.
7.5€6 62 6 6. 10.0

7.98 84 1 14.8
1586}
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2

AKE R DK E A

(2] BT KY

(2) BYEZE K O R A
@ JFUk (GEifik)

£ 7K 4 A H H28.4.11 H28.5.16 H28.6.20 H28.7.11 H28.8.24
P f i} i} & i =
= tieh (© 12.0 18.1 22.1 29. 1 25.5
7K & (C) 12.7 17.7 19.1 21.6 20.7
— 5 A (f /mL) 52 68 200 1, 600 8, 800
N W (MPN/100mL) 1 1 17 3 310
HRKRITLAEDRNEDILEWY (mg/L) <0. 0003 — — <0.0003 —
KO K Y F O b A B (mg/L)| <0.00005 — — <0.00005 —
L kN ZE O b AW (mg/L) <0. 001 — — <0. 001 —
m ok ™ F o b A& W (mg/L) <0. 001 — — <0. 001 —
E £ K O O b A W (mg/L) <0. 001 — — <0. 001 —
N ol 7 v A b A& W (mg/L) <0. 005 — — <0. 005 —
i) fiFd i3 e = ES (mg/L) 0.010 0.010 0.013 0.023 0.014
T A A F o RO AL T (mg/L) <0. 001 — — <0. 001 —
HBREEZEKOCEWEBRREZE R (mg/L) 0.97 0.78 0.83 0. 80 1.1
7 v F K O E O AW (mg/L) 0.10 0.10 0.11 0.12 <0.08
r v F R O F 0 AE WY (mg/L) 0.01 — — 0.01 —
m iy 1k K F# (mg/L) <0.0001  <0.0001  <0.0001  <0.0001  <0.0001
1, 4- ¥ 7 % VA N (mg/L) <0. 001 — — <0. 001 —
vVA-L,2-v /7 muaxF L kR
Ko zx-1,2-Y 7 vuF L (mg/L)|  <0.0002  <0.0002  <0.0002  <0.0002  <0.0002
A/ = o A B2 (mg/L)| <0.0001  <0.0001  <0.0001  <0.0001  <0.0001
> K 5 J mom = F L v (mg/L)| <0.0001  <0.0001  <0.0001  <0.0001  <0.0001
K'Y / m oo x F oL v (mg/L)| <0.0001  <0.0001  <0.0001  <0.0001  <0.0001
~ N + N (mg/L)| <0.0001  <0.0001  <0.0001  <0.0001  <0.0001
bicy F Pz (mg/L) — - - — —
7 = = W [ (mg/L) — - - — —
4 ad 4 N % N (mg/L) — — — — —
¥ 7 = = i3 [ (mg/L) — - - - -
Y 7 wm &y v oua A K v (mg/L) — — — — —
B e P (mg/L) — — - - —
LN ) VAN = B T (mg/L) — — — — —
k ) 7 = o EE R (mg/L) — - — - -
7 e B Y 7 o oo A R v (mg/L) — - - - -
=7 = s R IV A (mg/L) — - - — —
s v A T v Tk N (mg/L) — — — — —
m o kE O x o b A& W (mg/L) <0. 005 — — <0. 005 —
TILI=2ULAERFDONEYW (mg/L) 0.11 0.09 0.16 0.12 2.6
% kK O F o b A& W (mg/L) 0.13 0.10 0.23 0.16 2.7
i O R N -/ (mg/L) 0. 01 — — <0.01
T U T AR EONAEDY (mg/L) 7.0 — — 7.7 —
~ v H RO E O E W (mg/L) 0.025 0.030 0. 053 0. 042 0.11
bicy 1t L) 4 7 N (mg/L) 4.9 4.2 4,8 5.1 3.0
HNT TN, TR N () (mg/L) 54 53 56 59 41
7K S 7k *E%J L/ (mg/L) 110 — — 114 —
e 4 4 v K om & M A (mg/L) <0.01 — — 0. 01 —
v - 7 2 3 N (mg/L)| 0.000002 0.000003 0.000005 0.000012 0.000006
2- X F A4 Y R I X F — b (mg/L)| 0.000001 0.000001 0.000001 0.000001 0.000004
¥ A4 A v FH om i M A (mg/L) <0. 005 — — <0. 005 —
7 - ) — I 3 (mg/L)|  <0.0005 — —  <0.0005 —
H Y (2 F# K FE(T0C) © & (mg/L) 0.6 1.1 1.0 1.0 2.2
p H i 7.7 8.0 8.0 8.1 7.6
% _ _ _ _ _
5= = HER B pE A PR 5 +&R
&) B B 3.1 3.6 4.8 4.7 30
) i3 () 2.2 3.4 3.6 3.1 52
7k H i ES (mg/L) — — — — —
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H28.9.26  H28.10.17 H28.11.14 H28.12.19 H29.1.16 H29.2.13 H29.3.21 AN %/ D3]
fif§ 5] E5; i fiFf fiif 551 - -

26.0 15.9 13.0 6.6 0.9 5.1 8.2 29.1 0.9 15.
17.6 16. 2 13.4 9.5 7.9 7.1 10. 1 21.6 7.1 14
1,100 580 500 160 64 56 32 8, 800 32 1,100

140 5 74 21 0 3 2 310 0 48
— <0. 0003 - — <0. 0003 — - <0. 0003 <0. 0003 <0. 0003
—  <0.00005 — —  <0.00005 — —| <0.00005 <0.00005 <0.00005
— <0. 001 — — <0. 001 — — <0. 001 <0. 001 <0. 001
- <0. 001 — - <0. 001 - - <0. 001 <0.001 <0. 001
— <0. 001 - — <0. 001 — — <0. 001 <0. 001 <0. 001
— <0. 005 — — <0. 005 — — <0. 005 <0. 005 <0. 005
0. 007 0.014 0.014 0.013 0.018 0.011 0.015 0.023 0. 007 0.014
— <0. 001 — — <0. 001 — — <0. 001 <0. 001 <0. 001
0.90 0.99 0.98 1.0 1.0 1.0 1.0 1.1 0.78 0.95
<0. 08 0.10 0.10 0.10 0. 09 0.12 0.12 0.12 <0. 08 0.09
— 0.01 — — 0.01 - — 0.01 0.01 0.01
<0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001
— <0. 001 — — <0. 001 — — <0. 001 <0. 001 <0. 001
<0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002 <0. 0002
<0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001
<0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001
<0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001
<0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001
- <0. 005 — - <0. 005 - <0. 005 <0. 005 <0. 005
0. 58 0.23 0.20 0.14 0.19 12 0.10 2.6 0.09 0.39
0. 66 0.29 0.23 0.15 0.21 13 0.15 2.7 0.10 0.43
— <0.01 — — <0.01 — <0.01 <0.01 <0.01
- 6.5 — - 6.9 - - 7.7 6.5 7.0
0.038 0.038 0. 038 0. 030 0.038 0. 026 0. 039 0.11 0. 025 0. 042
2.5 3.9 4.3 4.8 4.6 5.5 5.9 5.9 2.5 4.5
45 55 56 58 57 60 60 60 41 55
— 114 — — 104 — — 114 104 111
— <0.01 — — <0.01 — - <0.01 <0.01 <0.01
0.000002 0.000003 0.000004 0.000002 0.000002 0.000002 0.000002 | 0.000012 0. 000002 0.000004
<0.000001 0.000001 0.000002 <0.000001 <0.000001 0.000001 0.000002 | 0.000004 <0.000001 0.000001
- <0. 005 — - <0. 005 - <0. 005 <0. 005 <0. 005
<0. 0005 — <0. 0005 — <0. 0005 <0. 0005 <0. 0005
0.9 0.6 0.8 0.8 0.8 1.1 0.8 2.2 0.6 1.0
7.7 7.8 8.0 7.8 7.8 8.6 8.0 8.6 7.6 7.9
B B R R S B B - - EBR
8.4 3.8 4.3 3.3 3.4 3.1 4.4 30 3.1 6.4
12 4.9 4.1 3.0 3.9 4.4 3.3 52 2.2 8.3
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2 KiBfEER D RERA
(2] BT KY
(2) BYEZE K O R A
@ JFK (GEiK)

£ 7K A A H H28.4.11 H28.5.16 H28.6.20 H28.7.11 H28.8.24
T F TR YT O E W (mg/L)[  <0.0003 — —  <0.0003 —
77 v k™ E O AW (mg/L)|  <0.0002 — —  <0.0002 —
= vy Kk XEFE DI EW (mg/L) <0. 001 — — <0. 001 —
L,2- ¥ 7 w nuw = X v (mg/L)|  <0.0001 — —  <0.0001 —
N JL - N (mg/L)|  <0.0001 — —  <0.0001 —
TENLVEEY (- F L~ F L) (mg/L) <0.001 — — <0. 001 —
i i ES fi (mg/L) — — — — —
Y/ mu 7k b= NI (mg/L) — — — — —
i) 7K 7 =i 7 — JL (mg/L) — — — — —
= IR el 0.010 — — <0. 001 —
U3 Hife R it (mg/L) 1.3 — — 1.0 —
LL,I- U 7 oo = X v (mg/L)|  <0.0001 — —  <0.0001 —
A F )b -t- 7 F )L = — 5 jL (MIBE) (mg/L)|  <0.0001 — —  <0.0001 —
B O W E (T O N ) 1 3 3 2 1
e (7 7 U 7 ) -1.1 — — -0.5 —
{5 B 5 7= gt (fi& /mL) 14, 000 20, 000 18, 000 13,000 150, 000
L,L1I- ¥ 7 g g x F L v (mg/L)|  <0.0001 — —  <0.0001 —
e = P i gl (MPN/100mL) 21 — — 10 —
£ b W B FEE K& (mg/L) — — — — —
= 17 fiz = (mg/L) — — — — —
% - L D o (MPN/L) 170 100 310 250 2, 300
I & T B i) (MPN/L) 13, 000 6, 200 18, 000 14,000 490, 000
x 73 . (MPN/100mL) 170 2,000 1,100 120, 000 24, 000
R U S - B (MPN/100mL) 1 30 28 21 2, 400
7 oy E = 7 H w # (mg/L) 0.03 <0. 02 0. 02 0. 04 0. 05
i % 2 7 A (mg/L) 14 — — 15 —
~ 7 s > v A (mg/L) 4.4 — — 4.9 —
Fiit % A 7 N (mg/L) 12 11 12 12 10
U v X x v A Rk EE (mg/L) 0.013 — — 0.023 —
A 7 L ol ) i (mg/L) 47 47 50 53 35
& = s = B (mS/m) 14.7 14. 1 15.2 15. 8 11.3
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H28.9.26  H28.10.17 H28.11.14 H28.12.19 H29.1.16 H29.2.13 H29.3.21 AN %/ D3]
- <0. 0003 - - <0. 0003 - — <0. 0003 <0. 0003 <0. 0003
- <0. 0002 - - <0. 0002 - - <0. 0002 <0. 0002 <0. 0002
— <0. 001 — — <0. 001 - — <0. 001 <0. 001 <0. 001
— <0. 0001 — — <0. 0001 - — <0. 0001 <0. 0001 <0. 0001
— <0. 0001 — — <0. 0001 — — <0. 0001 <0. 0001 <0. 0001
- <0. 001 - - <0. 001 - - <0. 001 <0. 001 <0. 001
— <0. 001 — — <0. 001 — — 0.010 <0. 001 0. 003
- 0.9 - - 1.7 - - 1.7 0.9 1.2
— <0. 0001 — — <0. 0001 — — <0. 0001 <0. 0001 <0. 0001
— <0. 0001 — — <0. 0001 — — <0. 0001 <0. 0001 <0. 0001
2 2 3 2 2 2 2 3 1 2
— -0.9 — — -1.0 — — -0.5 1.1 -0.9
37,000 11, 000 20, 000 13, 000 6, 600 48, 000 35, 000 150, 000 6, 600 32,000
— <0. 0001 — — <0. 0001 - — <0. 0001 <0. 0001 <0. 0001
- 28 - - 7 - - 28 7 17
340 220 400 290 120 340 230 2,300 100 420
48, 000 32, 000 40, 000 27,000 17, 000 18, 000 17, 000 490, 000 6, 200 62, 000
8, 400 490 2, 400 490 130 46 160 120, 000 46 13, 000
470 76 110 10 3 0 2 2,400 0 260
0.02 0.03 0.02 <0.02 <0.02 <0.02 0.03 0. 05 <0.02 0.02
- 15 - - 15 - - 15 14 15
- 4.4 - - 4.6 - - 4.9 4.4 4.6
11 12 12 12 12 12 12 12 10 12
— 0. 020 — — 0. 026 — — 0. 026 0.013 0.021
37 48 49 49 49 51 50 53 35 47
11.8 14.5 14.7 15.3 15.0 15.9 16. 3 16.3 11.3 14.6
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L3-Y  Jwem 7" ma’ v (DD (mg/L)| <0.0002 <0.0002 <0.0002 <0.0002| <0.0002 <0.0002  <0.0002
2,2-DPA( &% 5 R v ) (mg/L)| <0.0002 <0.0002 <0.0002  <0.0002| <0.0002  <0.0002  <0.0002
2, 4-D (2, 4-PA) (mg/L)| <0.0001  <0.0001  <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
EPN (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
MCPA (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
7 V2 o 5 2 (mg/L)|  <0.0001  <0.0001  <0.0001  <0.0001] <0.0001  <0.0001  <0.0001
7 + 7 - — F (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005[ <0.00005 <0.00005 <0.00005
7 bk 7 DA v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 = = N 2 (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
7 3 N 7 2 (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
7 7 7 = — b (mg/L)| <0.0001  <0.0001  <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
4 Y X B F A (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005[ <0.00005 <0.00005 <0.00005
4 v 7 = r & A (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001[ <0.00001 <0.00001 <0.00001
4 vV 7 m H A 7 (MIPC) (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
A4 Y ZF v F F T v (APD) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
4 7 v X v A&/ % (IBP) (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
4 v ¥ 2 7 57 v (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005[ <0.00005 <0.00005 <0.00005
= 2 F v FH A 7 (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
= ¥ 4 7 = v & A (EDDP) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005[ <0.00005 <0.00005 <0.00005
= b7 = v 7w oy 7 A (mg/L)] <0.0001 <0.0001 <0.0001 <0.0001| <0.0001  <0.0001  <0.0001
T RYPTY—A (= m AV —N) (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001[ <0.00001 <0.00001 <0.00001
T RALT (R YY) (mg/L)| <0.0001  <0.0001  <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
F ¥ b Y sz m A & v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
F x ¥ v 4 (A ¥ 8 ) (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
A UV ¥ b m B v (mg/L)] <0.0001 <0.0001 <0.0001 <0.0001] <0.0001  <0.0001  <0.0001
VY 2 N2 N 2 (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
B 7 = ¥ A b m — JL (mg/L)]| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
B U b (NAO) (mg/L)| <0.0001  <0.0001 <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
b/ VR A = A R (mg/L)| <0.0001 <0.0001  <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
b JU R 7 5 v (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
*x 7 5 2 ¥ (ACN) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
¥ ¥ -7 v v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
4 3 I = v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 wm A 7 v v 7 (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 vy = kv 7 = ¥ (CNP) (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001f <0.00001 <0.00001 <0.00001
7 w B U & Z (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
7 m wm % m = Jb (TPN) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
v 7 A v > (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
> 7 7 & A (CYAP) (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
D % = N (DCMU)  (mg/L)|  <€0.0001  <0.0001  <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
Y v m N = 2 (DBN) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
Y 7 wm A AR & (DDVP) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
DZANEKR P (= FAF A A ) (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
v ¥ *+ [ Jb (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
oo\ R oy 7 F v (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005] <0.00005 <0.00005 <0.00005
V2 < v N (CAT) (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
Y A Z R U ¥ (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
v A k s — F (mg/L)| <0.0001 <0.0001  <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
v A b U ¥ (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
Y A E 2 L — b (mg/L)| <€0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
vd A 7 Y J > (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
v A A = v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
¥ 7 v = Jb (mg/L)| <0.0001  <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
¥ v 5 2 (mg/L)|  <0.0001  <0.0001  <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
5 3 v 71 Jb 7 (mg/L)] <0.0001  <0.0001 <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
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F F 7 7 F — F A F  (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
F F N H 7 (mg/L)| <0.0001 <0.0001  <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
F N 7 A v 7 (MBPMC) (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
~ )} V4 =t =4 Jb (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
YU 7 v v & v (DEP) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
YooY 7 5 Y — b (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001] <0.0001  <0.0001  <0.0001
U 7o F U v (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
A i o % 2 K (mg/L)[ <0.0001 <0.0001  <0.0001  <0.0001] <0.0001 <0.0001  <0.0001
=4 ~ = N 2 (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
5 Y % v 7 = v (mg/L)]| <0.00001 <0.00001 <0.00001 <0.00001] <0.00001 <0.00001 <0.00001
oYY Rx—kr(ETY L —Fk) (mg/L)] <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
vy % 7 = v F F » (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
v U 7 F  H 7 (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
=4 = * = v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 A 7 = = /L (mg/L)|[<0.000005 <0.000005 <0.000005 <0.000005]<0. 000005 <0.000005 <0. 000005
7 x = bk m F F > MEP) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 = J 7 J v 7 (BPMC) (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
7 = v F A »  (PP) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
7 = v + = — |k (PAP) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
7 = v + Z ¥ I F (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
4 2 Z A K (mg/L)[ <0.0001 <0.0001  <0.0001 <0.0001] <0.0001  <0.0001  <0.0001
- vl 4 o — Jb (mg/L)| <0.0001  <0.0001  <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
- v 2 7 2 (mg/L)| <0.0001  <0.0001 <0.0001 <0.0001| <0.0001  <0.0001  <0.0001
7 7 w7 = ¥ r (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
7 JL 7 v va 2 (mg/L)| <0.0001  <0.0001  <0.0001  <0.0001] <0.0001  <0.0001  <0.0001
7 v F F 7 wmw — J (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001  <0.0001  <0.0001
v = D 2 N > (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
-7 = + %+ ) A (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
7 wm v a5 Y — b (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
v = =4 A g K (mg/L)| <0.0001  <0.0001  <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
7 wm X Y — L (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
7 = £ 7 5 K (mg/L)[ <0.0001 <0.0001  <0.0001  <0.0001] <0.0001  <0.0001  <0.0001
~ J N Jb (mg/L)| 0.0002 <0.0002  <0.0002  <0.0002] 0.0002 <0.0002  <0.0002
~ N N 7 = > (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
~N v Vv vz o\ v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001f <0.0001 <0.0001  <0.0001
N Y 7 = F w7 (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
~ N v V' v (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
N~ F 4 A2 Y v (mg/L)| <0.0001  <0.0001  <0.0001  <0.0001] <0.0001  <0.0001  <0.0001
N v 7 Z5 & 7 (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
Ny TN F Y (R a P ) (mg/L)| <0.0001  <0.0001  <0.0001  <0.0001] <0.0001 <0.0001  <0.0001
~N v 7 L k& — k (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001] <0.0001  <0.0001  <0.0001
A %2 F 7 ¥ — F (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
~ 5 F F v (<= 5 Y ) (mg/L)] <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
A = 7w oy 7 (MCPP) (mg/L)| <0.0001 <0.0001  <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
A v N JL (mg/L)| <€0.0001  <0.0001  <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
A vl Z % v Jb (mg/L)| <0.0001  <0.0001  <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
A F F F F > (DMIP) (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
A F X 4 A v v (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
A F I 7 Z k m t ¥ (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001  <0.0001  <0.0001
A k ) 7 v v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
A 7 = F & v F (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
A g = = s (mg/L)| <0.0001  <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
£ ) ES — L (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
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EPN %+ x v > (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
A4V F Y F F A X Y (mg/L)]| <0.00005 <0.00005 <0.00005 <0.00005( <0.00005 <0.00005 <0.00005
A4 Y 7 = v K A F F Y » (mg/L)]<0.000005 <0.000005 <0.000005 <0.000005<0. 000005 <0.000005 <0. 000005
= v F %2 J 7 = — b (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
CNP- 7 N J & (mg/L)]<0. 000001 <0.000001 <0.000001 <0.000001|<0.000001 <0.000001 <0.000001
7 )L v U AR X F X VU v (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001] <0.00001 <0.00001 <0.00001
2 A4 7T Y v A F Y v (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
7 xz=bruFF A F Y (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
MPP % L A& F 2 F (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
MPP 2 JL & v (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
MPP %+ ¥ v > (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
MPP 4 % ¥ v X JL &R F ¥ K (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
MPP A+ % YV v Z b A& v (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
7 2 2 K Z A F YV r (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
7 v & 7 F K F 7 v % (mg/L)] <0.0001 <0.0001 <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
~ 7 F X v F F VvV r (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 v % I F K (mg/L)|[ <0.0001 <0.0001  <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
A4 I % 7 v 7 U F (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
> 7 a  F v — L (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001f <0.0001 <0.0001  <0.0001
=4 Z 7 =1 N 2 (mg/L)| <0.0001  <0.0001 <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
7 o Z 7 7 I F (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
v = - v b (mg/L)| <0.0001  <0.0001  <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
~r  F F ¥ Y v (mg/L)| <0.0001  <0.0001  <0.0001  <0.0001] <0.0001  <0.0001  <0.0001
gz Va = v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
A S 7 m — b (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
7 R Y T L -S- A F b (mg/L)| <0.0001 <0.0001  <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
7 A k ) > (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
A4 F X v T 4 K (mg/L)| <0.0001  <0.0001  <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
4 <= Y 2 A 7 v r (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 = =@ JF Y — P (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
— F % ¥ 2 4 7 um v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
- F X v ¥ =  F (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001  <0.0001  <0.0001
F X Y 7 L X L (mg/L)] <0.0001  <0.0001 <0.0001  <0.0001] <0.0001  <0.0001  <0.0001
*+ * Va 2 Jb (mg/L)| <0.0001  <0.0001  <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
* ¥ o &k v ¥ = F b (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
7 wm  F 7 = ¥ v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 wm < 7 = / ¥ F (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 v L F — )L A F L (ICTP) (mg/L)| <0.0001  <0.0001  <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
7w b B U R X A F L (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
Y s m 7 = » F F v (ECP) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
v 7 = 2 v > (mg/L)| <0.0001 <0.0001  <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
Yy wmw g 7 v v 7 (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
v A2 v 7 v v o (mg/L)| <0.0001  <0.0001  <0.0001  <0.0001] <0.0001  <0.0001  <0.0001
v J 7 7 5 v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
Y 7 = /J =3 F v —  (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
Y 7 g N v X m v (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
> 7 mw oo F Y — b (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
v - = v = JL (mg/L)| <€0.0001  <0.0001 <0.0001  <0.0001| <0.0001 <0.0001 <0.0001
¥ A a3 F v — b (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
Y X F v v & & (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
> 5 7 g F 7 = v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001  <0.0001  <0.0001
DV N A ¥ ) v (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
F 7 7 u Z R (mg/L)| <0.0001  <0.0001 <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
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F 7 A % ¥ A (mg/L)| <0.0001  <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
F 7 JL va 2 K (mg/L)[ <0.0001 <0.0001  <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
F hF 7 LB iR A CWP) (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
S F 7 = F Y — b (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
5 7 7 =/ ¥ F (mg/L)] <0.0001 <0.0001 <0.0001 <0.0001f <0.0001 <0.0001  <0.0001
U X X P Ny 7 = F b (mg/L)| <0.0001  <0.0001  <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
Uo7 oo T Y — b (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
> 7 v 7 = U K (mg/L)[ <0.0001 <0.0001  <0.0001  <0.0001] <0.0001 <0.0001  <0.0001
= va N [ 5 2 (mg/L)| <0.0001  <0.0001  <0.0001  <0.0001] <0.0001 <0.0001  <0.0001
Xy o 7k T Y — L (mg/L) <0.0001  <0.0001  <0.0001 <0.0001] <0.0001  <0.0001  <0.0001
=4 A bk =t v > (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
g Y R 7 a o F o (mg/L)] <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
U I Ny 7 A F o (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
U 2 Rk AR X F L (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
7 7 A b~ =4 JL (mg/L)| <0.0001  <0.0001  <0.0001 <0.0001f <0.0001 <0.0001  <0.0001
7 v 7 ¥ Kk v 7 (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 v 2 = L (DCPA) (mg/L)| <0.0001 <0.0001  <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
v = 2% 7N 2 (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
7 m % L X » b (BPPS) (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
7 v RN ¥ A JL (PHO) (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001] <0.0001 <0.0001  <0.0001
7 = A 3 ) v (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
Ny X A4 A& B v T (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
) ¥ g 2 (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
) 2 VY U K (mg/L)[ <0.0001 <0.0001  <0.0001  <0.0001] <0.0001  <0.0001  <0.0001
£/ 7 n P A& Z (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
] = = = > (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
7 Y % ¥ X b v v ¥ (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
A -7 = v * > (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
V4 = = ES 7 (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001] <0.0001 <0.0001  <0.0001
V2 va o = > (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
> = . 7 v  — J (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
kv 7 ow &K Z A F b (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
Nm AR gL 7 om v A F b (mg/L)| <0.0001  <0.0001  <0.0001  <0.0001] <0.0001  <0.0001  <0.0001
v 7 = ) w7 Z (mg/L)| <€0.0001 <0.0001 <0.0001 <0.0001] <0.0001  <0.0001  <0.0001
Yy 7 o X ¥ 7 = ¥ (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
7 5 ¥ =z g 7 v v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 S K v = Jb (mg/L)| <0.0001  <0.0001  <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
~ v ) K (SAP) (mg/L)| <0.0001  <0.0001  <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
AN A gL 7 oa v A F L (mg/L)[ <0.0001  <€0.0001  <0.0001  <0.0001] <0.0001  <0.0001  <0.0001
Rz + v Jb (mg/L)| <0.0002  <0.0002 <0.0002  <0.0002| <0.0002 <0.0002  <0.0002
FLZ @R 2 AFLF XY 2 (ng/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001  <0.0001  <0.0001
+ x ¥ ¥ 7 v r (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
7 o A b % ¥ = b (mg/L)| <£0.0001 <0.0001 <0.0001 <0.0001f <0.0001 <0.0001  <0.0001
) Z o -2-7 FFF ) (mg/L)| <0.0001 <0.0001  <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
= + w 7 = ¥ (NIP) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
-7 = 2% v > (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
- 4 b YU F — K (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001] <0.0001  <0.0001  <0.0001
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2 JKIBEMRR DKE A

(2]

B iKY

(2) BYEZE M O RA

@ JEK (RifiAK)

£ 7K 4 A H H28.4.11 H28.5.16 H28.6.20 H28.7.11 H28.8.24
PN f i} i} & i =

= tieh (© 12.0 18.1 22.1 29. 1 25.5
7K 1 (©) 11.7 13.9 15.6 16.9 18.4
— 5 ] ({8 /mL) 5 2 4 3 600
N W (MPN/100mL) 0 0 0 0 7
BRI AKEOTEOAEY (mg/L) — — <0. 0003 —
KB K Y F O b A W (mg/L) — — —  <0.00005 -
L kN ZE O b AW (mg/L) — — — <0. 001 —
m Ok W F o b & W (mg/L) — — — <0. 001 —
v EF K X 2 o b A& W (mg/L) — — — <0. 001 —
A /A = S R | S/ (mg/L) — — — <0. 005 —
i) fiFd 3 e = ES (mg/L) <0. 004 <0. 004 <0. 004 <0. 004 <0. 004
T A A F o RO AL T (mg/L) — — — <0. 001 —
HBEEZE K OCEWEBRREZE R (mg/L) 1.4 1.2 1.4 1.2 1.5
7 v F K O E O LAWY (mg/L) <0. 08 0.08 <0. 08 <0. 08 <0. 08
r v EF R O EF 0 AE WY (mg/L) — — — 0. 02 —
] #H 1k K F# (mg/L) — — — <0.0001 -
1, 4- ¥ 7 X VA N (mg/L) — — — <0. 001 —
vA-L,2-Vv /7 muaxF L kR

Ko zx-1,2-Y 7 vuF L (mg/L) — — — <0.0002 —
Y7 = = A 4 N (mg/L) — — —  <0.0001 —
> N5 / v mrR = F L v (mg/L) — — —  <0.0001 —
YU / v owr = F L v (mg/L) — — — <0. 0001 —
~ NS ¥ NS (mg/L) — — — <0. 0001 —
iy F Pz (mg/L) — — — — —
7 = = W [ (mg/L) — — - — —
74 =4 =4 N JL N (mg/L) — — — — —
¥ 7 = = i3 [ (mg/L) — - - - -
Y 7 wm &y v oua A K v (mg/L) — — — — —
B e P (mg/L) — — - — —
S N VAN = S S A (mg/L) — — — — —
k ) 7 = o EE R (mg/L) - — — - -
7 e B Y 7 o oo A R v (mg/L) — - - - -
7 = £ 7 % A (mg/L) — — — — —
A v A 7 L F B KR (mg/L) — — — — —
m e kX O 2 o b & ® (mg/L) — — — <0. 005 —
T2 Ak ONZEDONLAEY (mg/L) 0.02 0. 02 0.03 0.02 0. 06
% kK O F o b A& W (mg/L) <0.01 <0.01 <0.01 0.01 0.04
i K X % o k& W (mg/L) — — — <0. 01 —
T U T AR EONAEDY (mg/L) — — — 7.4 —
~ v H RO E O E W (mg/L) <0. 005 <0. 005 <0. 005 <0. 005 <0. 005
bicy 1t L) 4 7 N (mg/L) 7.7 5.8 5.6 5.3 3.8
HN TN, TR L () (mg/L) 71 71 73 72 84
7K S 53 *E%J W (mg/L) — — — 122 —
= 4 & v /A om 3w % A (mg/L) — — — 0. 01 —
v - 7+ A 3 N (mg/L) — — — <0. 000001 —
2- X F A4 Y R I X F — b (mg/L) — — — <0. 000001 —
¥ 4 F v K om EF M A (mg/L) — — — <0. 005 —
7 - J — JL il (mg/L) — — —  <0.0005 —
H Y (2 F# K FE(T0C) © & (mg/L) 0.2 0.2 0.2 0.2 0.4
p H it 7.4 7.4 7.4 7.4 7.4

% _ _ _ _ _

5 = HBERL BEAaL BEAeL BEWAeL BEEhLL
&) i3 (F5) 0.5 <0.5 <0.5 0.5 1.3
b Ji3 () <0.1 0.1 <0.1 <0.1 0.4
5% £y ¥ ES (mg/L) — — — — —
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H28.9.26 H28.10.17 H28.11.14 H28.12.19 H29.1.16 H29.2.13 H29. 3.21 N B/ E3%
i 5] i i fif§ i3 i — —
26.0 15.9 13.0 6.6 0.9 5.1 8.2 29. 1 0.9 1

20.0 19.0 18.2 13.7 11.1 9.4 10.9 20.0 9.4

44 36 54 4 6 2 0 600 0 63

1 0 4 0 1 0 0 7 0 1

— — — — — — — <0. 0003

— — — — — — — — — <0.00005

— — — — — — — — — <0. 001

— — — — — — — — — <0. 001

— — — — — — — — — <0. 001

— — — — — — — — — <0. 005

<0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004

— — — — — — — — — <0. 001

1.6 1.6 1.2 1.3 1.2 1.1 1.3 1.6 1.1 1.3

0. 08 0.08 <0. 08 <0. 08 <0. 08 <0. 08 <0. 08 0.08 <0. 08 <0. 08

— — — — — — — — — 0. 02

— — — — — — — — —  <0.0001

— — — — — — — — — <0. 001

— — — — — — — — — <0.0002

— — — — — — — — —  <0.0001

— — — — — — — — —  <0.0001

— — — — — — — — — <0.0001

— — — — — — — — —  <0.0001

— — — — — — — — — <0. 005

0. 06 0.03 0.03 0.03 0. 02 0.03 0.03 0. 06 0. 02 0.03

0. 04 0.01 0. 02 0.01 0. 01 0.01 0.01 0. 04 0. 01 0.01

— — — — — — — — — <0. 01

— — — — — — — — — 7.4

<0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005

3.3 4.2 3.8 4.5 4.7 4.9 6.7 7.7 3.3 5.0

71 73 64 64 61 62 70 84 61 70

— — — — — — — — — 122

— — — — — — — — — <0. 01

— — — — — — — — — <0.000001

— — — — — — — — — <0.000001

— — — — — — — — — <0. 005

— — — — <0. 0005

0.4 0.2 0.3 0.3 0.3 0.4 0.2 0.4 0.2 0.3

7.3 7.4 7.4 7.4 7.5 7.5 7.4 7.5 7.3 7.4

HBepaL BEZ2L OBEWARL OBEARL BEAhL EEALRL O REAQL Bl

0.9 0.5 0.8 0.7 0.6 0.6 0.5 0.5

0.6 0.1 0.2 <0. 1 0.1 0.2 0. 1 0.1
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2 KiBfEER D RERA
(2] BT KY
(2) BYEZE M O RA
@ JFK (PRiEAK)

£ 7K 4 A H H28. 4. 11 H28.7. 11
T FE R YEFDOIREWY (mg/L) <0. 0003
v 7 v k™ E O/ E W (mg/L) <0. 0002
= v F Vv kO ZE o0 EWY (mg/L) <0. 001
L,2- ¥ 7 w nuw = X v (mg/L) <0. 0001
~ JL - N (mg/L) <0. 0001
TEABEY (- F L ~F ) (mg/L) <0. 001
i i * e (mg/L) —
Y 7 v w7 k= kU (mg/L) —
i) 7K 7 =i 7 — JL (mg/L) —
= IR el <0. 001
U3 Hife R it (mg/L) 2.9
LL,I- U 7 oo = X v (mg/L) <0. 0001
A F L —t—- 7 F L= — 5 L (MIBE) (mg/L) <0. 0001
B O W E (T O N ) <1
BAaE (7 5 ) 7 ) -1.1
HE & 5 7% gt (f /mL) 130 100
L,L1I- ¥ 7 g g x F L v (mg/L) <0. 0001
e = P i gl (MPN/100mL) 0
AW b =R B E O k& (mg/L) —
= 17 fiz e (mg/L) —
174 - JL > S (MPN/L) 0
T & P 3 il (MPN/L) —
x iV B (MPN/100mL) 16
#E OfF ¢ E# P ER (MPN/100mL) 1
7 v ®E = 7 B = # (mg/L) <0. 0. 02
& JL D % VN (mg/L) 20
~ 7 s g 7 VA (mg/L) 5.4
I fi% A 7 N (mg/L) 17 17
U oo X Z v A K (mg/L) —
A 7 JL ol ) i (mg/L) 51 57
B = = 8 B (mS/m) 18.2 18.2
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25

H28.9.26  H28.10.17 H28.11.14 H28.12.19 H29.1.16 H29.2.13 H29.3.21

<0. 0003
<0. 0002
<0. 001
<0. 0001
<0. 0001

<0. 001

<0. 001

2.9
<0. 0001
<0. 0001

<1
-1.1

670
<0. 0001

340
9

46
0

150
14

11

<0.02

21

<0.02

20

<0.02

15

<0. 02

14

<0.02

14

<0.02

13

<0.02

<0.02

52
17.9

56
18.6

51
16. 2

51
16.0

50
15.8

49
15. 7

17.4

20. 7

15. 7

17.6
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2

KB i F% D KB R A

(2] BT iKY

(2) PR O i A
@ JFUK (RiFEA)

% K i H H H28.7.11 2 7K i H H H28.7.11
L3-Y  Jew7" waA’ v DD (mg/L)| <0.0002 F 4 7 7 Fx — K A F L (mg/L)| <0.0001
2,2-DPAC &% 5 & > ) (mg/L)| <0.0002 F A+ X v F 7 (mg/L)| <0.0001
2, 4-D (2, 4-PA) (mg/L)| <0.0001 > N 7 A 7 (QBPMC) (mg/L)| <0.0001
EPN (mg/L)| <0.00001 5 ) v =t =4 JL (mg/L)| <0.00005
MCPA (mg/L)| <0.00005 U ¥ o g & v (DEP) (mg/L)| <0.00005
7 D o 5 2 (mg/L)|  <0.0001 KUY 75 Y — v (mg/L)|  <0.0001
7 + 7 = — ; (mg/L)| <0.00005 kv 7 oo 7 U v (mg/L)| <0.0001
7 ~ 7 v v (mg/L)| <0.0001 oA -7 = 3 3 F (mg/L)| <0.0001
7 = =t N 2 (mg/L)| <0.00001 =4 ~ =t N 2 (mg/L)| <0.00001
7 = b 7 2 (mg/L)| <0.00005 5 Y % v 7 = v (mg/L)]| <0.00001
7 7 7 & — v (mg/L)[ <0.0001 7Y U x—F(ETZYL— 1) (mg/L)| <0.0001
4 Y % ¥+ F A& v (mg/L)| <0.00005 v Uy ¥ 7 x v F A4 ¥ (mg/L)]| <0.00001
4 v 7 = v & A (mg/L)| <0.00001 v Uy 7 F A 7 (mg/L)]| <0.0001
A4 v F wm H 7 (MIPC) (mg/L)| <0.0001 =4 = ¥ = v (mg/L)| <0.0001
A4 Y 7 v F F T v (IPT) (mg/L)]| <0.0001 7 4 - 2! = JV (mg/L)|<0. 000005
A4 7 m N v &/ Z (IBP) (mg/L)| <0.0001 7 = = b+ v F F » MEP) (mg/L)| <0.0001
4 v % 2 7 57 v (mg/L)| <0.00005 7 = /J 7 H N 7 (BPMC) (mg/L)| <0.0001
= =2 7 wm #H 7 (mg/L)| <0.0001 7 = v F A »  (MPP) (mg/L)| <0.00005
= ¥ 4 7 = ¥ & A (EDDP) (mg/L)| <0.00005 7 x= v k = — |k (PAP) (mg/L)| <0.00005
= b 7 = v 7 v v 7 A (mg/L)| <0.0001 7 = v b 7 ¥ I K (mg/L)| <0.0001
T RY T — (s a AV —1) (mg/L)| <0.00001 4 VA 7 A F (mg/L)| <0.0001
T RALT 7 (RN EY) (mg/L)|  <0.0001 va v 7 & — v (mg/L)|  <0.0001
4+ % ¥ Y 7 v A & (mg/L)| <0.0001 7 v 3 = % (mg/L)| <0.0001
x> v 8 (fA B 8 ) (mg/L)| <0.0001 7 7 m 7 = ¥ v (mg/L)| <0.0001
4+ U # x + v v r (mg/L)| <0.0001 7 JL 7 v A A (mg/L)|  <0.0001
Vi = v N 2 (mg/L)| <0.00001 7 v F 7 7 v — J (mg/L)| <0.0001
h 7 = v A k m — J (mg/L)| <0.00005 VA =t V2 3 K > (mg/L)| <0.0001
B A y b (NAC) (mg/L)| <0.0001 VA =t ¥ 7+ ) A (mg/L)| <0.00001
Y/ VR S = A NN K (mg/L)| <0.0001 7 v ¥ a2 F v — L (mg/L)| <0.0001
7 % R 7 Vi v (mg/L)] <0.00005 -7 = = A N K (mg/L)[ <0.0001
¥ / 7 7 2 » (ACN) (mg/L)| <0.00005 7 wm X Y — L (mg/L)| <0.0001
* ¥ 7 vl v (mg/L)| <0.0001 i = £ 7 ¥ K (mg/L)[ <0.0001
7 N IV =t v (mg/L)| <0.0001 ~ J N L (mg/L)|  <0.0002
7 wm A 7wy 7 (mg/L)| <0.0001 ~ N v 4 = v (mg/L)| <0.0001
7 v = kv 7 = v (CNP) (mg/L)| <0.00001 ~N v Yy v vz m v (mg/L)] <0.0001
7 w v U & Z (mg/L)| <0.00001 ~ v v 7 = F v 7 (mg/L)| <0.00001
7 m v % v = A (TPN) (mg/L)| <0.0001 ~ N v V' v (mg/L)| <0.0001
V2 7 F v > (mg/L)| <0.00001 N F o A &2 U v (mg/L)| <0.0001
¥ 7 J & A (CYAP) (mg/L)| <0.00001 ~N v 7 Z v 7 (mg/L)| <0.0001
v 7 = v (DCMU)  (mg/L) [ <0. 0001 Ry 7NV F ) v (RAaPr) (mg/L)]  <0.0001
v 7 m < = 2 OB (mg/L)| <0.0001 ~ v 7 L & — b (mg/L)| <0.0001
v s m A A % (OOVP) (mg/L)| <0.00005 A A2 F 7 ¥  — b (mg/L)| <0.00001
VALK (=TT A A M) (mg/L)| <0.00001 ~ 7 FF v (= Z YV v) mg/L| <0.0001
¥ ¥ %+ =y L (mg/L)| <0.00005 A a 7 wm v 7 (MCPP) (mg/L)[ <0.0001
oo v s vy 7 7 F L (mg/L)| <0.00005 A >V N sV (mg/L)|  <0.0001
v ~ v N (CAT) (mg/L)| <0.00001 A v Z ¥ v L (mg/L)| <0.0001
v A xR MU » (mg/L)| <0.0001 A F F F 4 » (OMTP) (mg/L)| <0.00001
v A k = — k (mg/L)| <0.0001 A F A X 4 A m v (mg/L)| <0.0001
v A ~ Y > (mg/L)| <0.0001 A K I 7 2 F m B v (mg/L)| <0.0001
Y A E 2 L — b (mg/L)| <0.00001 A b ) 7 Y v (mg/L)|  <0.0001
Zd A 7 v J > (mg/L)| <0.00001 A 7 = F By k (mg/L)| <0.0001
v A N =t > (mg/L)| <0.0001 A 7 o = Jb (mg/L)| <0.0001
¥ 7 v = b (mg/L)|  <0.0001 £ i = — L (mg/L)| <0.00005
- v 7 A (mg/L)[ <0.0001
7 7 D4 7 JL 7 (mg/L)| <0.0001
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% K i H H H28.7.11 PR 7K i H H H28.7.11
EPN % * 4 > (mg/L)| <0.00001 F T A % ¥ A (mg/L)| <0.0001
4 V% Y F 4 4 X Y v (mg/L)| <0.00005 ¥ 4 JL : 3 K (mg/L)| <0.0001
A4 Y 7 = v K A A F Y (mg/L)]<0.000005 7 b7 7 Lk A (CWP) (mg/L)| <0.0001
= v K Z2 A 7 = — b (mg/L)| <0.0001 > ~ 5 =@ F ¥ — s (mg/L)| <0.0001
CNP- 7 N J & (mg/L)|<0. 000001 > 7 7 = J ¥ F (mg/L)| <0.0001
7 v ¥ U R A F F VY v (mg/L)| <0.00001 U X F PNy 7 F b (mg/L)|  <0.0001
2 A4 7 ¥V J v F F Y v (mg/L)| <0.00001 Uo7 oo I Y — b (mg/L)| <0.0001
7 x=btua FAF A F Y (mg/L)| <0.00005 > 75 v 7 = K (mg/L)[ <0.0001
MPP 2 L A F ¥ K (mg/L)| <0.00005 = va N 5 2 (mg/L)|  <0.0001
MPP 2 JL N v (mg/L)| <0.00005 Ny v 7 s F5 Y — L (mg/L)|  <0.0001
MPP %+ ¥ Vi > (mg/L)| <0.00005 [ A k v > (mg/L)| <0.0001
MPP 4 % v v X JL R ¥ ¥ K (mg/L)| <0.00005 I Y 27 u rx F o (mg/l)| <0.0001
MPP F % Y v Z L & v (mg/L)| <0.00005 U RNy 7 A F gL (mg/L)]| <0.0001
7 % I &K A A4 X YV v (mg/L)| <0.0001 Y 2 Rk A A F L (mg/L)| <0.0001
7 v ® 7 F K F 7 v EF (meg/L)] <0.0001 7 7 A = JL (mg/L)|  <0.0001
~ 7 F F v F F vV v (mg/L)| <0.0001 7 N 7 ¥ & v 7 (mg/L)| <0.0001
7 w2 = o (DCPA) (mg/L)| <0.0001
7 v ox I 7 Y K (mg/L)| <0.0001 va o s N 2 (mg/L)| <0.00001
4 I X% s v 7 U F (mg/L)| <0.0001 7 v % ) ¥ v b (BPPS) (mg/L)| <0.0001
F 7 @ F v — b (mg/L)| <0.0001 7 v A& ¥ X o (PHO) (mg/L)| <0.0001
=4 Z 4 = N 2 (mg/L)| <0.0001 v = A ) v (mg/L)| <0.0001
7 v % A 7 7 2 F (mg/L)| <0.00001 N Z A4 F v T (mg/L)| €0.00005
7 =t < v b (mg/L)| <0.0001 ) ¥ V2 2 (mg/L)| <0.00001
~ v b F ¥V v (mg/L)| <0.0001 N 2 il U F (mg/L)| <0.0001
gz + = v (mg/L)| <0.0001 £/ 7 b & A (mg/L)| <0.00001
A %z v — b (mg/L)| <0.0001 y = o o v (mg/L)| <0.0001
7 YNV T -S- A F L (mg/L)| <0.0001 VA A o v 2 (mg/L)| <0.0001
7 A k ) > (mg/L)| <0.0001 A 7 = 7 > (mg/L)| <0.0001
4 F X T g K (mg/L)| <0.0001 Y = = ks 7 (mg/L)| <0.0001
A4 ~ Y 2 A 7 v » (mg/L)]| <0.0001 v a o = > (mg/L)| <0.0001
v = =@ F Y — o P (mg/L)| <0.0001 7 = N 7 v — b (mg/L)] <0.0001
= K ¥ ¥ 2 A 7 v ¥ (mg/L)| <0.0001 A= A F v (mg/L)| <0.0001
= F X B = F (mg/L)| <0.0001 N\m X b 7 v v A F g (mg/L)| <0.0001
F X Y 7 X A (mg/L)| <0.0001 v g = )y 7 Z (mg/L)[ <0.0001
*+ ¥ Va 2 Jb (mg/L)| <0.0001 vy 7 v % ¥ 7 = v (mg/L)]| <0.0001
* ¥ o &k v ¥ = F L (mg/L)| <0.0001 7 5 ¥ =z 7 v v (mg/L)| <0.0001
7 v  F 7 = ¥ v (mg/L)| <0.0001 4 I k = v (mg/L)|  <0.0001
7 wm < 7 = J ¥ F (mg/L)| <0.0001 ~ R Y K (SAP) (mg/L)| <0.0001
7 a )y F — )L A F )L (TCTP) (mg/L)| <0.0001 ~N v A 7 oa v A F b (mg/L)|  <£0.0001
7 v b U R A A F b (mg/L)| <0.0001 R * ¥ Jb (mg/L)|  <0.0002
Y7 v 7 x v F F v (BCP) (mg/L)| <0.00005 FvZ R ZAFALFFY 2 (mg/L)| <0.0001
v 7 =] A v v (mg/L)| <0.0001
Y s v A 7 v v 7 (mg/L)| <0.0001 > % ¥ 7 Y v (mg/L)| <0.0001
v ) Z o 7 v v (mg/L)] <0.0001 s 1w A b *% ¥ = Jb (mg/L)| <0.0001
v J va - 5 v (mg/L)| <0.0001 MY ZBEL-2-7 FFxF I/ (mg/L)| <0.0001
Y 7 = J 4o F vV — )L (mg/L)| <0.0001 = + w 7 > (NIP) (mg/L)| <0.0001
v 7 o X v X m v (mg/L)| <0.0001 v =t 2 v v (mg/L)| <0.0001
v 7 v o F Y — L (mg/L)| <0.0001 2- 7 b+ % F  — b (mg/L)[ <0.0001
v v = v = L (mg/L)|  <0.0001
v X = 5 v — L (mg/L)| <0.0001
Y XA F v v K A (mg/L)| <0.0001
¥ 5 7 A F 7 = v (mg/L)| <0.0001
v N A ¥ ) v (mg/L)| <0.0001
5 7 7 v 7 ¥ K (mg/L)| <0.0001
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2 JKIBEMRR DKE A
(2] BT 5K
(2) BMEZE K O
@ MBI

£ 7K A A H H28.4.11 H28.5.16 H28.6.20 H28.7.11 H28.8.24
PN & i} i} & i =

= tieh (© 12.0 18.1 22.1 29. 1 25.5

7K i (©) 12.9 17.7 19.7 21.3 21.3

— 5 A ({8 /mL) 1 2 0 2,100 1

N W (MPN/100mL) 0 0 2 1 0

il fird P fie = %= (mg/L) <0. 004 <0. 004 <0. 004 0. 021 <0. 004
HBMEEZEKOHEWEBREE R (mg/L) 0.96 0.77 0.82 0.78 1.0

7 v F Kk N ZE 0 b A& W (mg/L) 0.10 0.10 0.10 0.11 <0. 08
TILI=T AR DREONEW (mg/L) 0.24 0.26 0.23 0.23 0.17

% Kk O = o I A& W (mg/L) <0.01 <0. 01 <0. 01 0. 01 0. 04

<~ v H v EONFE oS W (mg/L) 0. 008 0.010 <0. 005 0.011 <0. 005
i 1k L) 4 7+ N (mg/L) 8.9 8.1 9.3 9.9 13

N TN, TR LN GEE) (mg/L) 54 54 57 59 43

B (& A ¥R FE (T0C) © &) (mg/L) 0.4 0.6 0.5 0.6 0.8

p H & 7.2 7.2 7.3 7.0 6.9

5= = HEhL EEARL ORBREARL ORBERL HEAhL

&) B (B) 0.6 0.6 <0.5 1.0 0.9

) B (BD) 0.1 0.2 0.1 0.4 0.4

7% B H e (mg/L) 0.3 0.3 0.3 <0.1 0.2

B X W E (T O N ) <1 1 <1 <1 <1
Bt B g = gt ({iE /mL) 130 660 130 13, 000 14

x 15 #  (MPN/100mL) 0 0 3 16, 000 0

firt 3 A 7 N (mg/L) 16 16 18 21 11

A 7 Ju 71 ) i (mg/L) 38 40 42 39 24

7 = & u R (mS/m) 15. 6 15.1 16. 4 16.9 13.5
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H28.9.26 H28.10.17 H28.11.14 H28.12.19 H29.1.16 H29.2.13 H29.3.21 TN BN 1)
i E§] 2 i i fii& 5 — —
26.0 15.9 13.0 6.6 0.9 5.1 8.2 29. 1 0.9 15
17.7 16.3 13.2 9.4 7.3 7.1 10. 0 21.3 7.1 14
1 0 0 0 0 0 0 2,100 0 180
0 0 0 0 0 0 0 2 0 0
<0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 0. 021 <0. 004 <0. 004
0. 89 0.97 0. 99 1.0 1.0 0. 99 0. 99 1.0 0.77 0.93
<0. 08 0.08 0. 09 0. 08 <0. 08 0. 10 0.10 0.11 <0. 08 <0. 08
0.26 0.25 0. 24 0.31 0.21 0.33 0.21 0.33 0. 17 0.25
0.03 0. 02 <0.01 0. 02 <0. 01 0.01 0.01 0. 04 <0. 01 0.01
<0. 005 <0. 005 <0. 005 0. 009 0.014 0. 005 0. 009 0.014 <0. 005 0. 006
8.3 8.4 9.1 8.5 8.8 9.1 11 13 8.1 9.4
45 55 57 57 56 60 60 60 43 55
0.5 0.4 0.5 0.5 0.5 0.6 0.5 0.8 0.4 0.5
7.2 7.2 7.2 7.2 7.1 7.2 7.1 7.3 6.9 7.2
HEaL  BEZL ORWRL RBERL HERL BEERL O RBESRL — HERL
<0.5 <0.5 <0.5 0.7 0.7 <0.5 0.6 1.0 <0.5 <0.5
0.5 0.3 0.1 0.3 0.1 0.5 0.2 0.5 0.1 0.3
0.3 0.4 0.5 0.2 0.3 0.2 0.3 0.5 0.1 0.3
<1 <1 <1 <1 <1 <1 <1 <1 <1 <1
8 14 1 25 4 12 8 13, 000 1 1, 200
0 0 0 0 0 0 0 16, 000 0 1, 300
13 16 18 18 20 20 20 21 11 17
31 39 40 40 37 41 38 42 24 37
12.9 15.5 16. 1 16. 2 16.2 17.0 17.5 17.5 12.9 15. 7
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2 KiESER DO KERA
(2] B7IREKE
(2) BT R O E A

@ Bl Ak (EsEiREsR)

£ 7K A A H H28.4.11 H28.5.16 H28.6.20 H28.7.11 H28.8.24

PN & i} i} & i =

= tieh (© 12.0 18.1 22.1 29. 1 25.5

7K i (©) 13.3 17.0 19.5 20.7 21.5

— 5 A ({8 /mL) 2 2 1 24 4

N W (MPN/100mL) 0 0 0 0 0

il fird P fie = %= (mg/L) <0. 004 <0. 004 <0. 004 <0. 004 <0. 004
e E K O B EE R (mg/L) 1.3 0.97 1.2 0. 96 1.3

7 v # K N E O AW (mg/L) 0. 09 0.10 0. 09 0.10 0. 09

TILI=T AR DREONEW (mg/L) 0.01 0. 02 0.01 0. 02 0. 01
% Kk O = o I A& W (mg/L) <0.01 <0. 01 <0. 01 0. 01 <0. 01
~ v H kRN EOWE D (mg/L) <0. 005 <0. 005 <0. 005 <0. 005 <0. 005
i 1k L) 4 7+ N (mg/L) 7.0 5.5 5.7 5.4 3.7

N TN, TR LN GEE) (mg/L) 72 73 70 69 73

B (& A ¥R FE (T0C) © &) (mg/L) 0.3 0.3 0.2 0.2 0.4

p H & 8.2 8.3 7.7 8.0 7.6

5= = HEhL EEARL ORBREARL ORBERL HEAhL

&) B (B) 0.5 0.5 0.5 <0.5 <0.5
) B () <0. 1 <0. 1 <0.1 0. 1 <0. 1
7% B H e (mg/L) 0.6 0.8 0.8 0.8 1.0

B X W E (T O N ) <1 1 <1 <1 <1
s & g = gk (fiE/mL) 4 4 6 20 8

It = L3 R Jla (MPN/L) 780 1, 400 280 6, 800 2, 800

X i) . (MPN/100mL) 0 0 0 0 0

i i3 A % N (mg/L) 16 15 16 14 21

i 7 JL el ) i3 (mg/L) 57 61 60 60 58

5 = 5 i =R (mS/m) 18. 4 18.3 18.3 17.9 18.5
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H28.9.26 H28.10.17 H28.11.14 H28.12.19 H29.1.16 H29.2.13 H29.3.21 TN BN 1)
i E§] & 5 i fii& 5] — -
26.0 15.9 13.0 6.6 0.9 5.1 8.2 29. 1 0.9 15
20. 7 17.6 15.5 10.8 8.1 7.9 10. 8 21.5 7.9 15
4 4 1 2 1 2 1 24 1 4
0 0 0 0 0 0 0 0 0 0
<0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004
1.4 1.2 1.2 1.2 1.2 0.98 1.0 1.4 0.96 1.2
<0. 08 0. 08 <0. 08 <0. 08 <0. 08 0. 08 0.10 0. 10 <0. 08 <0. 08
0.01 0.01 0.01 <0. 01 <0. 01 0.01 0.01 0. 02 <0.01 <0. 01
0. 01 <0. 01 <0. 01 <0. 01 <0. 01 <0. 01 <0. 01 <0. 01 <0. 01 <0. 01
<0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005
3.4 4.1 4.3 4.7 4.8 5.2 6.3 7.0 3.4 5.0
71 66 65 63 61 64 68 73 61 68
0.3 0.2 0.3 0.3 0.3 0.3 0.3 0.4 0.2 0.3
7.6 7.9 8.0 7.8 7.9 8.4 8.2 8.4 7.6 8.0
BEaL BEZL ORWRL O RBERL HELL BEERL O RBESRL — L
<0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5
<0. 1 <0. 1 0. 1 <0. 1 <0. 1 0. 1 0. 1 <0. 1 <0. 1 0. 1
1.0 0.9 0.8 0.6 0.6 0.7 0.6 1.0 0.6 0.8
<1 <1 <1 <1 <1 <1 <1 <1 <1 <1
17 7 2 3 2 10 4 20 2 7
2, 000 1, 800 1, 600 1, 000 890 1, 000 1, 400 6, 800 280 1, 800
0 0 0 0 0 0 0 0 0 0
20 16 14 13 13 13 13 21 13 15
56 56 55 52 52 55 58 61 52 57
17.9 17.0 16. 6 16. 2 16. 0 16. 6 17.6 18.5 16. 0 17. 4
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2 KiBfEER D RERA
(2] BT KY

(2) BMEZ K Ol A
® 1 59Kk CEmpbil, Hed Hik - Mk, Sl S RiE5 %)

£ 7K 4 A H H28.4.11 H28.5.16 H28.6.20 H28.7.11 H28.8.24
P f i) i & i) =
= tieh (© 12.0 18.1 22.1 29. 1 25.5
7K & (C) 12.9 17.8 19.7 21.4 22.6
— 5 A ({8 /mL) 0 0 0 0 0
N W (MPN/100mL) 0 0 0 0 0
H RKRITLAERNEDILEWY (mg/L) <0. 0003 — — <0.0003 —
KO K Y F O b A B (mg/L)| <0.00005 — — <0.00005 —
t v v Kk X EFE O AW (mg/L) <0. 001 — — <0. 001 —
m ok ™ F o b A& W (mg/L) <0. 001 — — <0. 001 —
E #F K O ZF O b AW (mg/L) <0. 001 — — <0. 001 —
N ol 7 v A& b A& W (mg/L) <0. 005 — — <0. 005 —
iy il fi% HE = # (mg/L) <0. 004 <0. 004 <0. 004 <0. 004 <0. 004
T A A F o RO AL T (mg/L) <0. 001 — — <0. 001 —
HBEEZE K OCEWEBRREZE R (mg/L) 0.98 0. 82 0.83 0.79 1.0
7 v F K O E O LAWY (mg/L) 0.11 0.11 0.11 0.11 <0.08
r v EF R O EF 0 AE WY (mg/L) 0.01 — — 0. 02 —
] #H 1k K F# (mg/L) <0. 0001 — —  <0.0001 —
1, 4- ¥ 7 % VA N (mg/L) <0. 001 — — <0. 001 —
vA-L,2-Vv /7 muaxF L kR
Ko zx-1,2-Y 7 vuF L (mg/L) <0. 0002 — — <0.0002 —
DA = = A b NG (mg/L) <0. 0001 — — <0. 0001 —
> K 5 J mom = F L v (mg/L) <0. 0001 — — <0.0001 —
K'Yy Y m g =x F oL v (mg/L) <0. 0001 — — <0.0001 —
~ N + N (mg/L) <0. 0001 — —  <0.0001 —
bicy 3 P (mg/L) <0. 06 — — <0. 06 —
7 = = W i (mg/L) <0. 002 — — <0. 002 —
7 = = R L N (mg/L)|  0.0030 — —0.0018 —
¥ 7 = = {3 fi (mg/L) 0. 002 — — <0. 002 —
Y 7w E 7 wmowu XK v (mg/L)|  0.0004 — — 0.0005 —
B F# ik (mg/L) <0.001 — — <0. 001 —
WMoO0N U N m A H v (mg/L)|  0.0052 — — 0.0034 —
k ) 7 = =S (mg/L) 0. 002 — — <0. 002 —
7 m E Y s ow om A K (mg/L)|  0.0017 — —0.0012 —
- = S A JL A (mg/L) <0. 0001 — — <0.0001 —
A v A 7T L F v K (mg/L) <0. 002 — — <0. 002 —
m o kE O x o b A& W (mg/L) <0. 005 — — <0. 005 —
T2 AKX ZEDONLAEY (mg/L) 0.03 0. 05 0.05 0.04 0.03
% K O 2 o b A W (mg/L) 0. 01 <0.01 <0.01 <0.01 <0.01
O R N -/ (mg/L) 0. 01 — — <0.01 —
T U T AR DTEONAEY (mg/L) 8.1 — — 8.9 —
~ v H RO E O E W (mg/L) <0. 005 <0. 005 <0. 005 <0. 005 <0. 005
bicy 1t L) 4 7 N (mg/L) 8.8 8.1 9.3 10 13
HNT TN, TR N () (mg/L) 56 56 57 60 46
7K S J53 *E%J L/ (mg/L) 114 — — 107 —
e 4 4 v K om & M A (mg/L) <0.01 — — 0. 01 —
¥ - 7 2 3 N (mg/L)| 0.000002 0.000002 0.000002 0.000002 0.000002
2- A F )L A4 VR R F — L (mg/L)| 0.000001 = 0.000001 <0.000001 <0.000001 0.000002
F 4 F v K om EF M A (mg/L) <0. 005 — — <0. 005 —
- - ) — I 3 (mg/L) <0. 0005 — —  <0.0005 —
H Y (42 F# K FE(T0C) © & (mg/L) 0.4 0.6 0.5 0.3 0.7
p H i 7.2 7.3 7.3 7.1 7.0
IS HeEhlL BELRL RBERL OBEARL BEALL
5 B BERL BEARL BEARL BEAeL BEhLL
&) B B <0.5 <0.5 <0.5 <0.5 <0.5
) i3 () <0.1 <0.1 <0.1 <0.1 <0.1
V5 2 H = (mg/L) 0.6 0.7 0.9 0.8 0.8
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H28.9.26 H28.10.17 H28.11.14 H28.12.19 H29.1.16 H29.2.13 H29.3.21 TN BN 1)
i E§] & 5 i fii& 5] — -
26.0 15.9 13.0 6.6 0.9 5.1 8.2 29. 1 0.9 15
18.6 16.7 14.1 10. 0 8.0 7.2 10.3 22.6 7.2 14
0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 0
<0. 0003 — <0. 0003 — <0.0003  <0.0003  <0.0003
— <0.00005 — — <0.00005 — —| <0.00005 <0.00005 <0.00005
— <0. 001 — — <0. 001 — — <0. 001 <0. 001 <0. 001
— <0.001 — — <0. 001 — — <0. 001 <0. 001 <0. 001
— <0. 001 — — <0. 001 — — <0. 001 <0. 001 <0. 001
— <0. 005 — — <0. 005 — — <0. 005 <0. 005 <0. 005
<0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004
— <0. 001 — — <0. 001 — — <0. 001 <0. 001 <0. 001
0.95 1.0 1.0 1.1 1.0 0.98 0.98 1.1 0.79 0.95
<0. 08 0. 08 0. 09 0. 08 <0. 08 0. 10 0. 10 0.11 <0. 08 <0. 08
— 0.01 — — 0.01 — — 0. 02 0.01 0.01
—  <0.0001 — —  <0.0001 — —|  <0.0001  <0.0001  <0.0001
— <0. 001 — — <0. 001 — — <0. 001 <0. 001 <0. 001
—  <0.0002 — —  <0.0002 — —|  <0.0002  <0.0002  <0.0002
—  <0.0001 — —  <0.0001 — —|  <0.0001  <0.0001  <0.0001
—  <0.0001 — —  <0.0001 — —|  <€0.0001  <0.0001  <0.0001
—  <0.0001 — — <0.0001 — —|  <0.0001  <0.0001  <0.0001
— <0.0001 — — <0.0001 — —|  <0.0001  <0.0001  <0.0001
— <0. 06 — — 0. 06 — — <0. 06 <0. 06 <0. 06
— <0. 002 — — <0. 002 — — <0. 002 <0. 002 <0. 002
— 0.0031 — — 0.0019 — —|  0.0031 0.0018 0. 0025
— 0. 002 — — <0. 002 — — 0. 002 <0. 002 <0. 002
— 0.0004 — — 0.0003 — —| 0.0005 0. 0003 0. 0004
— 0. 001 — — <0. 001 — — <0. 001 <0. 001 <0. 001
— 0.0049 — — 0.0034 — —|  0.0052 0. 0034 0. 0042
— 0. 002 — — <0. 002 — — 0. 002 <0. 002 <0. 002
— 0.0015 — — 0.0011 — —|  0.0017 0.0011 0.0014
—  <0.0001 — —  <0.0001 — —| <0.0001  <0.0001  <0.0001
— <0. 002 — — <0. 002 — — <0. 002 <0. 002 <0. 002
— <0. 005 — — <0. 005 — — <0. 005 <0. 005 <0. 005
0.03 0. 04 0.03 0.03 0. 02 0.04 0.03 0.05 0. 02 0.04
0. 01 0. 01 <0.01 <0. 01 0. 01 <0.01 <0.01 0. 01 0. 01 <0.01
— <0. 01 — — <0. 01 — — <0. 01 <0. 01 <0. 01
— 7.6 — — 7.8 — — 8.9 7.6 8.1
<0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005
7.8 8.0 8.8 8.3 8.3 8.9 11 13 7.8 9.2
48 56 60 59 57 60 62 62 46 56
— 110 — — 109 — — 114 107 110
— <0. 01 — — 0. 01 — — <0. 01 0. 01 <0. 01
<0. 000001 0.000002 = 0.000002 0.000002 0.000001 0.000002 0.000002 | 0.000002 <0.000001 0.000002
<0. 000001 0.000001 = 0.000001 = <0.000001 <0.000001 <0.000001 0.000001 | 0.000002 = <0.000001 <0.000001
— <0. 005 — — <0. 005 — — <0. 005 <0. 005 <0. 005
—  <0.0005 — —  <0.0005 — —|  <0.0005  <0.0005  <0.0005
0.4 0.4 0.4 0.4 0.4 0.5 0.5 0.7 0.3 0.5
7.2 7.3 7.3 7.2 7.1 7.4 7.2 7.4 7.0 7.2
HBEmL  BEZL ORBERL OBRERL HERL EEARL REARL — — HERL
Byl BEaL BEAeL BEWAL BEEALL BEELRL O BEARL Bl
<0.5 0.5 0.5 <0.5 <0.5 <0.5 0.5 <0.5 <0.5 0.5
0.1 0.1 0.1 0. 1 0. 1 0.1 0.1 0. 1 0.1 0.1
0.8 0.8 0.7 0.6 0.6 0.6 0.6 0.9 0.6 0.7
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2 KiESER DO KERA
(2] B7IREKE
(2) BT K O E A

® 1 59Kk CEmpbil, Hed Hik - Mk, Sl S RiE5 %)

£ K A A H H28.4.11 H28.5.16 H28.6.20 H28.7.11 H28.8.24
T F TR YT O E W (mg/L)[  <0.0003 — —  <0.0003 —
72 B S O N /S W A 7] (mg/L)|  <0.0002 — —  <0.0002 —
=y Lk REFEDOIESW (mg/L) <0. 001 — — <0. 001 —
,2- ¥ 7 m mn =T X v (mg/L)|  <0.0001 — —  <0.0001 —
N JL - N (mg/L)|  <0.0001 — —  <0.0001 —
TEABEY (- F L ~F ) (mg/L) <0.001 — — <0. 001 —
iy bicy ES [ (mg/L) <0. 06 — — 0. 06 —
Y s m w7 k= FU (mg/L) <0.001 — — <0. 001 —
Wwmoook 7 = 5 - (mg/L) 0. 001 — — 0. 002 —
= IR ¥ <0.001 — — <0. 001 —
U3 Hife R it (mg/L) 3.3 — — 3.3 —
LL,I- U 7 oo = X v (mg/L)|  <0.0001 — —  <0.0001 —
A F L —t- 7 F L= — 5 L (MIBE) (mg/L)|  <0.0001 — —  <0.0001 —
B O ® E (T O N ) <1 <1 <1 <1 <1
et (7 7 U 78 ) -1.6 — — -1.5 —
1€ & EN 7% i (fi /mL) 0 0 0 0 0
L,L1I- ¥ 7 g g x F L v (mg/L)|  <0.0001 — —  <0.0001 —
e = P i gl (MPN/100mL) — — — — —
£ Wb W B FEE K& (mg/L) — — — —
= 17 fiz =3 (mg/L) — — — — —
7 - v D4 =2 (MPN/L) - - - - -
T & P 3 il (MPN/L) 10 17 0 16 6
x iV B (MPN/100mL) 0 0 0 0 0
#E OfF ¢ E# P ER (MPN/100mL) — — — — —
7 oy E = 7 W w # (mg/L) — — — — —
il JL > 4 VA (mg/L) 15 — 16 —
~ 7 s > v A (mg/L) 4.6 — — 5.0 —
I fi% A 7 N (mg/L) 17 16 18 20 12
U oo X Z v A K (mg/L) — — — — —
A 7 L ol ) i (mg/L) 41 42 43 43 29
& = = = B (mS/m) 15.9 15.7 16.6 17.3 14. 3
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H28.9.26  H28.10.17 H28.11.14 H28.12.19 H29.1.16 H29.2.13 H29.3.21 AN %/ D3]
- <0. 0003 - - <0. 0003 - — <0. 0003 <0. 0003 <0. 0003
- <0. 0002 - - <0. 0002 - - <0. 0002 <0. 0002 <0. 0002
— <0. 001 — — <0. 001 - — <0. 001 <0. 001 <0. 001
— <0. 0001 — — <0. 0001 - — <0. 0001 <0. 0001 <0. 0001
— <0. 0001 — — <0. 0001 — — <0. 0001 <0. 0001 <0. 0001
- <0. 001 - - <0. 001 - - <0. 001 <0. 001 <0. 001
— <0. 06 — — <0. 06 — - <0. 06 <0. 06 <0. 06
— <0. 001 — — <0.001 — — <0. 001 <0.001 <0. 001
— 0.001 — — 0.001 - — 0. 002 0.001 0.001
— <0. 001 — — <0. 001 — — <0. 001 <0. 001 <0. 001
- 2.6 - - 4.4 - - 4.4 2.6 3.4
— <0. 0001 — — <0. 0001 — — <0. 0001 <0. 0001 <0. 0001
— <0. 0001 — — <0. 0001 — — <0. 0001 <0. 0001 <0. 0001
<1 <1 <1 <1 <1 <1 <1 <1 <1 <1
— -1.4 — — -1.8 — — -1.4 -1.8 -1.6
0 0 0 0 0 0 0 0 0 0
— <0. 0001 — — <0. 0001 - — <0. 0001 <0. 0001 <0. 0001
7 22 14 15 19 58 36 58 0 18
0 0 0 0 0 0 0 0 0 0
15 - - 15 - - 16 15 15
- 4.5 - - 4.7 - - 5.0 4.5 4.7
14 16 17 18 20 19 19 20 12 17
34 43 44 42 39 42 42 44 29 40
13.4 15. 7 16. 5 16. 4 16. 2 17.0 17.6 17.6 13.4 16. 1
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£ K i A H H28.4.11 H28.7.11 H28.10.17 H29.1.16 K /N Sy
L3-Y  Jwem 7" ma’ v (DD (mg/L)| <0.0002 <0.0002 <0.0002 <0.0002| <0.0002 <0.0002  <0.0002
2,2-DPA( &% 5 R v ) (mg/L)| <0.0002 <0.0002 <0.0002  <0.0002| <0.0002  <0.0002  <0.0002
2, 4-D (2, 4-PA) (mg/L)| <0.0001  <0.0001  <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
EPN (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
MCPA (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
7 V2 o 5 2 (mg/L)|  <0.0001  <0.0001  <0.0001  <0.0001] <0.0001  <0.0001  <0.0001
7 + 7 - — F (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005[ <0.00005 <0.00005 <0.00005
7 bk 7 DA v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 = = N 2 (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
7 3 N 7 2 (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
7 7 7 = — b (mg/L)| <0.0001  <0.0001  <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
4 Y X B F A (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005[ <0.00005 <0.00005 <0.00005
4 v 7 = r & A (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001[ <0.00001 <0.00001 <0.00001
4 vV 7 m H A 7 (MIPC) (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
A4 Y ZF v F F T v (APD) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
4 7 v X v A&/ % (IBP) (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
4 v ¥ 2 7 57 v (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005[ <0.00005 <0.00005 <0.00005
= 2 F v FH A 7 (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
= ¥ 4 7 = v & A (EDDP) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005[ <0.00005 <0.00005 <0.00005
= b7 = v 7w oy 7 A (mg/L)] <0.0001 <0.0001 <0.0001 <0.0001| <0.0001  <0.0001  <0.0001
T RYPTY—A (= m AV —N) (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001[ <0.00001 <0.00001 <0.00001
T RALT (R YY) (mg/L)| <0.0001  <0.0001  <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
F ¥ b Y sz m A & v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
F x ¥ v 4 (A ¥ 8 ) (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
A UV ¥ b m B v (mg/L)] <0.0001 <0.0001 <0.0001 <0.0001] <0.0001  <0.0001  <0.0001
VY 2 N2 N 2 (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
B 7 = ¥ A b m — JL (mg/L)]| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
B U b (NAO) (mg/L)| <0.0001  <0.0001 <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
b/ VR A = A R (mg/L)| <0.0001 <0.0001  <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
b JU R 7 5 v (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
*x 7 5 2 ¥ (ACN) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
¥ ¥ -7 v v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
4 3 I = v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 wm A 7 v v 7 (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 vy = kv 7 = ¥ (CNP) (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001f <0.00001 <0.00001 <0.00001
7 w B U & Z (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
7 m wm % m = Jb (TPN) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
v 7 A v > (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
> 7 7 & A (CYAP) (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
D % = N (DCMU)  (mg/L)|  <€0.0001  <0.0001  <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
Y v m N = 2 (DBN) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
Y 7 wm A AR & (DDVP) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
DZANEKR P (= FAF A A ) (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
v ¥ *+ [ Jb (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
oo\ R oy 7 F v (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005] <0.00005 <0.00005 <0.00005
V2 < v N (CAT) (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
Y A Z R U ¥ (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
v A k s — F (mg/L)| <0.0001 <0.0001  <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
v A b U ¥ (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
Y A E 2 L — b (mg/L)| <€0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
vd A 7 Y J > (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
v A A = v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
¥ 7 v = Jb (mg/L)| <0.0001  <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
¥ v 5 2 (mg/L)|  <0.0001  <0.0001  <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
5 3 v 71 Jb 7 (mg/L)] <0.0001  <0.0001 <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
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F F 7 7 F — F A F  (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
F F N H 7 (mg/L)| <0.0001 <0.0001  <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
F N 7 A v 7 (MBPMC) (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
~ )} V4 =t =4 Jb (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
YU 7 v v & v (DEP) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
YooY 7 5 Y — b (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001] <0.0001  <0.0001  <0.0001
U 7o F U v (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
A i o % 2 K (mg/L)[ <0.0001 <0.0001  <0.0001  <0.0001] <0.0001 <0.0001  <0.0001
=4 ~ = N 2 (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
5 Y % v 7 = v (mg/L)]| <0.00001 <0.00001 <0.00001 <0.00001] <0.00001 <0.00001 <0.00001
oYY Rx—kr(ETY L —Fk) (mg/L)] <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
vy % 7 = v F F » (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
v U 7 F  H 7 (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
=4 = * = v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 A 7 = = /L (mg/L)|[<0.000005 <0.000005 <0.000005 <0.000005]<0. 000005 <0.000005 <0. 000005
7 x = bk m F F > MEP) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 = J 7 J v 7 (BPMC) (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
7 = v F A »  (PP) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
7 = v + = — |k (PAP) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
7 = v + Z ¥ I F (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
4 2 Z A K (mg/L)[ <0.0001 <0.0001  <0.0001 <0.0001] <0.0001  <0.0001  <0.0001
- vl 4 o — Jb (mg/L)| <0.0001  <0.0001  <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
- v 2 7 2 (mg/L)| <0.0001  <0.0001 <0.0001 <0.0001| <0.0001  <0.0001  <0.0001
7 7 w7 = ¥ r (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
7 JL 7 v va 2 (mg/L)| <0.0001  <0.0001  <0.0001  <0.0001] <0.0001  <0.0001  <0.0001
7 v F F 7 wmw — J (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001  <0.0001  <0.0001
v = D 2 N > (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
-7 = + %+ ) A (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
7 wm v a5 Y — b (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
v = =4 A g K (mg/L)| <0.0001  <0.0001  <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
7 wm X Y — L (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
7 = £ 7 5 K (mg/L)[ <0.0001 <0.0001  <0.0001  <0.0001] <0.0001  <0.0001  <0.0001
~ J N Jb (mg/L)| <0.0002  <0.0002  <0.0002  <0.0002| <0.0002 <0.0002  <0.0002
~ N N 7 = > (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
~N v Vv vz o\ v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001f <0.0001 <0.0001  <0.0001
N Y 7 = F w7 (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
~ N v V' v (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
N~ F 4 A2 Y v (mg/L)| <0.0001  <0.0001  <0.0001  <0.0001] <0.0001  <0.0001  <0.0001
N v 7 Z5 & 7 (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
Ny TN F Y (R a P ) (mg/L)| <0.0001  <0.0001  <0.0001  <0.0001] <0.0001 <0.0001  <0.0001
~N v 7 L k& — k (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001] <0.0001  <0.0001  <0.0001
A %2 F 7 ¥ — F (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
~ 5 F F v (<= 5 Y ) (mg/L)] <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
A = 7w oy 7 (MCPP) (mg/L)| <0.0001 <0.0001  <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
A v N JL (mg/L)| <€0.0001  <0.0001  <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
A vl Z % v Jb (mg/L)| <0.0001  <0.0001  <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
A F F F F > (DMIP) (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
A F X 4 A v v (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
A F I 7 Z k m t ¥ (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001  <0.0001  <0.0001
A k ) 7 v v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
A 7 = F & v F (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
A g = = s (mg/L)| <0.0001  <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
£ ) ES — L (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
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EPN %+ x v > (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
A4V F Y F F A X Y (mg/L)]| <0.00005 <0.00005 <0.00005 <0.00005( <0.00005 <0.00005 <0.00005
A4 Y 7 = v K A F F Y » (mg/L)]<0.000005 <0.000005 <0.000005 <0.000005<0. 000005 <0.000005 <0. 000005
= v F %2 J 7 = — b (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
CNP- 7 N J & (mg/L)]<0. 000001 <0.000001 <0.000001 <0.000001|<0.000001 <0.000001 <0.000001
7 )L v U AR X F X VU v (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001] <0.00001 <0.00001 <0.00001
2 A4 7T Y v A F Y v (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
7 xz=bruFF A F Y (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
MPP % L A& F 2 F (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
MPP 2 JL & v (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
MPP %+ ¥ v > (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
MPP 4 % ¥ v X JL &R F ¥ K (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
MPP A+ % YV v Z b A& v (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
7 2 2 K Z A F YV r (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
7 v & 7 F K F 7 v % (mg/L)] <0.0001 <0.0001 <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
~ 7 F X v F F VvV r (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 v % I F K (mg/L)|[ <0.0001 <0.0001  <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
A4 I % 7 v 7 U F (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
> 7 a  F v — L (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001f <0.0001 <0.0001  <0.0001
=4 Z 7 =1 N 2 (mg/L)| <0.0001  <0.0001 <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
7 o Z 7 7 I F (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
7 = - v b (mg/L)| <0.0001  <0.0001  <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
~r  F F ¥ Y v (mg/L)| <0.0001  <0.0001  <0.0001  <0.0001] <0.0001  <0.0001  <0.0001
gz Va = v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
A S 7 m — b (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
7 R Y T L -S- A F b (mg/L)| <0.0001 <0.0001  <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
7 A k ) > (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
A4 F X v T 4 K (mg/L)| <0.0001  <0.0001  <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
4 <= Y 2 A 7 v r (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 = =@ JF Y — P (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
— F % ¥ 2 4 7 um v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
- F X v ¥ =  F (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001  <0.0001  <0.0001
F X Y 7 L X L (mg/L)] <0.0001  <0.0001 <0.0001  <0.0001] <0.0001  <0.0001  <0.0001
*+ * Va 2 Jb (mg/L)| <0.0001  <0.0001  <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
* ¥ o &k v ¥ = F b (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
7 wm  F 7 = ¥ v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 wm < 7 = / ¥ F (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 v L F — )L A F L (ICTP) (mg/L)| <0.0001  <0.0001  <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
7w b B U R X A F L (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
Y s m 7 = » F F v (ECP) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
v 7 = 2 v > (mg/L)| <0.0001 <0.0001  <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
Yy wmw g 7 v v 7 (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
v A2 v 7 v v o (mg/L)| <0.0001  <0.0001  <0.0001  <0.0001] <0.0001  <0.0001  <0.0001
v J 7 7 5 v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
Y 7 = /J =3 F v —  (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
Y 7 g N v X m v (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
> 7 mw oo F Y — b (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
v - = v = JL (mg/L)| <€0.0001  <0.0001 <0.0001  <0.0001| <0.0001 <0.0001 <0.0001
¥ A a3 F v — b (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
Y X F v v & & (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
> 5 7 g F 7 = v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001  <0.0001  <0.0001
DV N A ¥ ) v (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
F 7 oy v ZF R (mg/L)| <0.0001  <0.0001 <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
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2

KB i F% D KB R A

(2] BT iKY

(2) BRSO i A
® 1 5k CEimkg,

R At 5 - BFLILIR, SR SRR & R)

£ K i A H H28.4.11 H28.7.11 H28.10.17 H29.1.16 TN /s Sy

F 7 A % ¥ A (mg/L)| <0.0001  <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
F 7 JL va 2 K (mg/L)[ <0.0001 <0.0001  <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
F hF 7 LB iR A CWP) (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
S F 7 = F Y — b (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
5 7 7 =/ ¥ F (mg/L)] <0.0001 <0.0001 <0.0001 <0.0001f <0.0001 <0.0001  <0.0001
U X X P Ny 7 = F b (mg/L)| <0.0001  <0.0001  <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
Uo7 oo T Y — b (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
> 7 v 7 = U K (mg/L)[ <0.0001 <0.0001  <0.0001  <0.0001] <0.0001 <0.0001  <0.0001
= va N [ 5 2 (mg/L)| <0.0001  <0.0001  <0.0001  <0.0001] <0.0001 <0.0001  <0.0001
Xy o 7k T Y — L (mg/L) <0.0001  <0.0001  <0.0001 <0.0001] <0.0001  <0.0001  <0.0001
=4 A bk =t v > (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
g Y R 7 a o F o (mg/L)] <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
U I Ny 7 A F o (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
U 2 Rk AR X F L (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
7 7 A b~ =4 JL (mg/L)| <0.0001  <0.0001  <0.0001 <0.0001f <0.0001 <0.0001  <0.0001
7 v 7 ¥ Kk v 7 (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 v 2 = L (DCPA) (mg/L)| <0.0001 <0.0001  <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
v = 2% 7N 2 (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
7 m % L X » b (BPPS) (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
7 v RN ¥ A JL (PHO) (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001] <0.0001 <0.0001  <0.0001
7 = A 3 ) v (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
Ny X A4 A& B v T (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
) ¥ g 2 (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
) 2 VY U K (mg/L)[ <0.0001 <0.0001  <0.0001  <0.0001] <0.0001  <0.0001  <0.0001
£/ 7 n P A& Z (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
] = = = > (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
7 Y % ¥ X b v v ¥ (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
A -7 = v * > (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
V4 = = ES 7 (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001] <0.0001 <0.0001  <0.0001
V2 va o = > (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
> = . 7 v  — J (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
kv 7 ow &K Z A F b (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
Nm AR gL 7 om v A F b (mg/L)| <0.0001  <0.0001  <0.0001  <0.0001] <0.0001  <0.0001  <0.0001
v 7 = ) w7 Z (mg/L)| <€0.0001 <0.0001 <0.0001 <0.0001] <0.0001  <0.0001  <0.0001
Yy 7 o X ¥ 7 = ¥ (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
7 5 ¥ =z g 7 v v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 S K v = Jb (mg/L)| <0.0001  <0.0001  <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
~ v ) K (SAP) (mg/L)| <0.0001  <0.0001  <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
AN A gL 7 oa v A F L (mg/L)[ <0.0001  <€0.0001  <0.0001  <0.0001] <0.0001  <0.0001  <0.0001
Rz + v Jb (mg/L)| <0.0002  <0.0002 <0.0002  <0.0002| <0.0002 <0.0002  <0.0002
FLZ @R 2 AFLF XY 2 (ng/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001  <0.0001  <0.0001
+ x ¥ ¥ 7 v r (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
7 o A b % ¥ = b (mg/L)| <£0.0001 <0.0001 <0.0001 <0.0001f <0.0001 <0.0001  <0.0001
) Z o -2-7 FFF ) (mg/L)| <0.0001 <0.0001  <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
= + w 7 = ¥ (NIP) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
-7 = 2% v > (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
- 4 b YU F — K (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001] <0.0001  <0.0001  <0.0001
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2 KiESER DO KERA
(2] B7IREKE
(2) B K O E A

©® 2 Sk (i, 2ol Al R)
£ 7K 4 A H H28.4.11 H28.5.16 H28.6.20 H28.7.11 H28.8.24
P f i} i} & i =
= tieh (© 12.0 18.1 22.1 29. 1 25.5
7K & (C) 12.8 18.0 19.7 21.7 22.3
— 5 A ({8 /mL) 0 0 0 0 0
N W (MPN/100mL) 0 0 0 0 0
H RKRITLAERNEDILEWY (mg/L) <0. 0003 — — <0.0003 —
KO K Y F O b A B (mg/L)| <0.00005 — — <0.00005 —
t v v Kk X EFE O AW (mg/L) <0. 001 — — <0. 001 —
m ok ™ F o b A& W (mg/L) <0. 001 — — <0. 001 —
E #F K O ZF O b AW (mg/L) <0. 001 — — <0. 001 —
A /A = S R | S/ (mg/L) <0. 005 — — <0. 005 —
iy il fi% HE = # (mg/L) <0. 004 <0. 004 <0. 004 <0. 004 <0. 004
T A A F o RO AL T (mg/L) <0. 001 — — <0. 001 —
HBEEZE K OCEWEBRREZE R (mg/L) 0.96 0.78 0.82 0.78 1.0
7 v F K O E O LAWY (mg/L) 0.09 0.10 0.10 0.11 <0. 08
r v EF R O EF 0 AE WY (mg/L) 0.01 — — 0.01 —
] #H 1k K F# (mg/L) <0. 0001 — —  <0.0001 —
1, 4- ¥ 7 % VA N (mg/L) <0. 001 — — <0. 001 —
vA-L,2-Vv /7 muaxF L kR
Ko zx-1,2-Y 7 vuF L (mg/L)|  <0.0002 — — <0.0002 —
DA = = A b NG (mg/L) <0. 0001 — — <0. 0001 —
F N % 7 wom xT F L v (mg/L)|  <0.0001 — —  <0.0001 —
K'Yy Y m g =x F oL v (mg/L)|  <0.0001 — —  <0.0001 —
~ N + N (mg/L)|  <0.0001 — —  <0.0001 —
bicy 3 P (mg/L) <0. 06 — — <0. 06 —
7 = = W i (mg/L) <0. 002 — — <0. 002 —
7 = = R L N (mg/L)| 0.0028 — —0.0020 —
¥ 7 = = {3 fi (mg/L) 0. 002 — — <0. 002 —
Y 7w E 7 wmowu XK v (mg/L)|  0.0004 — — 0.0005 —
B F# ik (mg/L) <0.001 — — <0. 001 —
WO U N o\ A X (mg/L)|  0.0048 — — 0.0039 —
k ) 7 = =S (mg/L) 0. 002 — — <0. 002 —
7 m E Y s ow om A K (mg/L)| 0.0016 — —0.0013 —
- = S A JL A (mg/L)|  <0.0001 — — <0.0001 —
A v A 7T L F v K (mg/L) <0. 002 — — <0. 002 —
m o kE O x o b A& W (mg/L) <0. 005 — — <0. 005 —
T2 AKX ZEDONLAEY (mg/L) 0.03 0. 06 0. 06 0.04 0.03
% K O 2 o b A W (mg/L) 0. 01 <0.01 <0.01 <0.01 <0.01
O R N -/ (mg/L) 0. 01 — — <0.01 —
T U T AR DTEONAEY (mg/L) 8.0 — — 9.0 —
~ v H RO E O E W (mg/L) <0. 005 <0. 005 <0. 005 <0. 005 <0. 005
bicy 1t L) 4 7 N (mg/L) 8.9 8.2 9.2 11 14
HNT TN, TR N () (mg/L) 54 54 57 59 45
7K S J53 E@ L/ (mg/L) 109 — — 114 —
e 4 4 v K om & M A (mg/L) <0.01 — — 0. 01 —
v - 7+ A 3 N (mg/L)| 0.000002 0.000002 0.000002 0.000002 0.000003
2- A F )L A4 VR R F — L (mg/L)| 0.000001 = 0.000001 <0.000001 <0.000001 0.000002
F 4 F v K om EF M A (mg/L) <0. 005 — — <0. 005 —
7 - ) — I 3 (mg/L)|  <0.0005 — —  <0.0005 —
H Y (42 F# K FE(T0C) © & (mg/L) 0.4 0.6 0.5 0.3 0.7
p H i 7.2 7.2 7.3 7.0 7.0
IS HeEhlL BELRL RBERL OBEARL BEALL
5 B BERL BEARL BEARL BEAeL BEhLL
&) B B <0.5 <0.5 <0.5 <0.5 <0.5
) i3 () <0.1 <0.1 <0.1 <0.1 <0.1
V5 2 H = (mg/L) 0.7 0.8 0.9 0.8 0.8
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H28.9.26 H28.10.17 H28.11.14 H28.12.19 H29.1.16 H29.2.13 H29.3.21 TN BN 1)
i E§] & 5 i fii& 5] — -
26.0 15.9 13.0 6.6 0.9 5.1 8.2 29. 1 0.9 15
18.0 16.7 13.3 9.5 8.1 7.2 10.3 22.3 7.2 14
0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 0
<0. 0003 — <0. 0003 — <0.0003  <0.0003  <0.0003
— <0.00005 — — <0.00005 — —| <0.00005 <0.00005 <0.00005
— <0. 001 — — <0. 001 — — <0. 001 <0. 001 <0. 001
— <0.001 — — <0. 001 — — <0. 001 <0. 001 <0. 001
— <0. 001 — — <0. 001 — — <0. 001 <0. 001 <0. 001
— <0. 005 — — <0. 005 — — <0. 005 <0. 005 <0. 005
<0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004
— <0. 001 — — <0. 001 — — <0. 001 <0. 001 <0. 001
0. 89 0.97 1.0 1.0 1.0 0.98 0.98 1.0 0.78 0.93
<0. 08 0. 08 0. 09 0. 08 <0. 08 0. 10 0. 10 0.11 <0. 08 <0. 08
— 0.01 — — 0.01 — — 0.01 0.01 0.01
—  <0.0001 — —  <0.0001 — —|  <0.0001  <0.0001  <0.0001
— <0. 001 — — <0. 001 — — <0. 001 <0. 001 <0. 001
—  <0.0002 — —  <0.0002 — —|  <0.0002  <0.0002  <0.0002
—  <0.0001 — —  <0.0001 — —|  <0.0001  <0.0001  <0.0001
—  <0.0001 — —  <0.0001 — —|  <€0.0001  <0.0001  <0.0001
—  <0.0001 — — <0.0001 — —|  <0.0001  <0.0001  <0.0001
— <0.0001 — — <0.0001 — —|  <0.0001  <0.0001  <0.0001
— <0. 06 — — 0. 06 — — <0. 06 <0. 06 <0. 06
— <0. 002 — — <0. 002 — — <0. 002 <0. 002 <0. 002
— 0.0034 — — 0.0021 — —|  0.0034 0. 0020 0. 0026
— 0. 002 — — <0. 002 — — 0. 002 <0. 002 <0. 002
— 0.0004 — — 0.0003 — —| 0.0005 0. 0003 0. 0004
— 0. 001 — — <0. 001 — — <0. 001 <0. 001 <0. 001
— 0.0054 — — 0.0036 — —|  0.0054 0. 0036 0. 0044
— 0. 003 — — 0. 002 — — 0. 003 <0. 002 <0. 002
— 0.0016 — — 0.0012 — —| 0.0016 0.0012 0.0014
—  <0.0001 — —  <0.0001 — —| <0.0001  <0.0001  <0.0001
— <0. 002 — — <0. 002 — — <0. 002 <0. 002 <0. 002
— <0. 005 — — <0. 005 — — <0. 005 <0. 005 <0. 005
0. 04 0. 04 0. 04 0.03 0. 02 0. 05 0.03 0. 06 0. 02 0. 04
0. 01 0. 01 <0.01 <0. 01 0. 01 <0.01 <0.01 0. 01 0. 01 <0.01
— <0. 01 — — <0. 01 — — <0. 01 <0. 01 <0. 01
— 7.5 — — 7.7 — — 9.0 7.5 8.1
<0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005
8.3 8.4 9.2 8.6 8.8 9.3 11 14 8.2 9.6
45 55 58 58 56 60 60 60 45 55
— 112 — — 107 — — 114 107 111
— <0. 01 — — 0. 01 — — <0. 01 0. 01 <0. 01
<0. 000001 0.000003 = 0.000003 0.000002 0.000002 0.000002 0.000002 | 0.000003 <0.000001 0.000002
<0. 000001 0.000001 = 0.000002 = <0.000001 <0.000001 0.000001 0.000002 | 0.000002 = <0.000001 <0.000001
— <0. 005 — — <0. 005 — — <0. 005 <0. 005 <0. 005
—  <0.0005 — —  <0.0005 — —|  <0.0005  <0.0005  <0.0005
0.4 0.4 0.4 0.4 0.4 0.5 0.5 0.7 0.3 0.5
7.1 7.2 7.2 7.2 7.1 7.3 7.2 7.3 7.0 7.2
HBEmL  BEZL ORBERL OBRERL HERL EEARL REARL — — HERL
Byl BEaL BEAeL BEWAL BEEALL BEELRL O BEARL Bl
<0.5 0.5 0.5 <0.5 <0.5 <0.5 0.5 <0.5 <0.5 0.5
0.1 0.1 0.1 0. 1 0. 1 0.1 0.1 0. 1 0.1 0.1
0.8 0.8 0.7 0.6 0.5 0.6 0.6 0.9 0.5 0.7
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2 KiESER DO KERA
(2] B7IREKE
(2) B K O E A

® 2 Sifk (BRFEE, Sl 5 R)

£ 7K A A H H28.4.11 H28.5.16 H28.6.20 H28.7.11 H28.8.24
T FEUCREREDNAEDYD (mg/L)[  <0.0003 — —  <0.0003 —
72 B S O N /S W A 7] (mg/L)|  <0.0002 — —  <0.0002 —
= vy Kk XEFE DI EW (mg/L) <0. 001 — — <0. 001 —
,2- ¥ 7 m mn =T X v (mg/L)|  <0.0001 — —  <0.0001 —
N JL - N (mg/L)|  <0.0001 — —  <0.0001 —
TEABEY (- F L ~F ) (mg/L) 0. 001 — — <0.001 —
iy bicy ES [ (mg/L) <0. 06 — — 0. 06 —
s v nm 7 kv = F1U (mg/L) <0.001 — — <0. 001 —
Wwmoook 7 = 5 - (mg/L) 0. 001 — — 0. 002 —
= IR ¥ <0.001 — — <0. 001 —
U3 Hife R it (mg/L) 3.3 — — 3.7 —
LL,I- U 7 oo = X v (mg/L)|  <0.0001 — —  <0.0001 —
A F L —t- 7 F L= — 5 L (MIBE) (mg/L)|  <0.0001 — —  <0.0001 —
B O ® E (T O N ) <1 <1 <1 <1 <1
et (7 7 U 78 ) -1.6 — — -1.7 —
e B 5 7% i (fi /mL) 0 0 0 0 0
L,L1I- ¥ 7 g g x F L v (mg/L)|  <0.0001 — —  <0.0001 —
e = P i gl (MPN/100mL) — — — — —
AW b = R E O k& (mg/L) — — — —
= 17 fiz =3 (mg/L) — — — — —
7 - v D4 =2 (MPN/L) - - - - -
T = P 3 il (MPN/L) 0 0 1 0 0
PN 5 B (MPN/100mL) 0 0 0 0 0
#E OfF ¢ E# P ER (MPN/100mL) — — — — —
7 v E = 7 B =B # (mg/L) — - — — —
i % 2 7 A (mg/L) 14 — — 16 —
~ 7 s > v A (mg/L) 4.4 — — 4.9 —
I fi% A 7 N (mg/L) 17 16 18 21 11
U oo X Z v A K (mg/L) — — — — —
A 7 L ol ) i (mg/L) 39 39 43 41 28
& = = i B (mS/m) 15.7 15.3 16.6 17.2 14. 0
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H28.9.26  H28.10.17 H28.11.14 H28.12.19 H29.1.16 H29.2.13 H29.3.21 AN %/ D3]
- <0. 0003 - - <0. 0003 - — <0. 0003 <0. 0003 <0. 0003
- <0. 0002 - - <0. 0002 - - <0. 0002 <0. 0002 <0. 0002
— <0. 001 — — <0. 001 - — <0. 001 <0. 001 <0. 001
— <0. 0001 — — <0. 0001 - — <0. 0001 <0. 0001 <0. 0001
— <0. 0001 — — <0. 0001 — — <0. 0001 <0. 0001 <0. 0001
- <0. 001 - - <0. 001 - - 0.001 <0. 001 <0. 001
— <0. 06 — — <0. 06 - - <0. 06 <0. 06 <0. 06
— <0. 001 — — <0.001 — — <0. 001 <0.001 <0. 001
— 0.002 — — 0.001 - — 0. 002 0.001 0.002
— <0. 001 — — <0. 001 — — <0. 001 <0. 001 <0. 001
- 3.0 - - 5.2 - - 5.2 3.0 3.8
— <0. 0001 — — <0. 0001 — — <0. 0001 <0. 0001 <0. 0001
— <0. 0001 — — <0. 0001 — — <0. 0001 <0. 0001 <0. 0001
<1 <1 <1 <1 <1 <1 <1 <1 <1 <1
— -1.6 — — -1.8 — — -1.6 -1.8 -1.7
0 0 0 0 0 0 0 0 0 0
— <0. 0001 — — <0. 0001 - — <0. 0001 <0. 0001 <0. 0001
1 1 1 2 4 1 0 4 0 1
0 0 0 0 0 0 0 0 0 0
15 - - 15 - - 16 14 15
- 4.4 - - 4.6 - - 4.9 4.4 4.6
13 16 18 18 21 20 20 21 11 17
32 41 42 41 38 41 40 43 28 39
12.9 15.5 16. 5 16. 4 16. 2 17.0 17.6 17.6 12.9 15.9
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2 KiEHER DO KE A
(2] B7REKYG
(2) BYbS % OSHE AT

©® 2 5k (BEEILE, Sl AiER)

£ K i A H H28.4.11 H28.7.11 H28.10.17 H29.1.16 K /N Sy
L3-Y  Jwem 7" ma’ v (DD (mg/L)| <0.0002 <0.0002 <0.0002 <0.0002| <0.0002 <0.0002  <0.0002
2,2-DPA( &% 5 R v ) (mg/L)| <0.0002 <0.0002 <0.0002  <0.0002| <0.0002  <0.0002  <0.0002
2, 4-D (2, 4-PA) (mg/L)| <0.0001  <0.0001  <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
EPN (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
MCPA (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
7 V2 o 5 2 (mg/L)|  <0.0001  <0.0001  <0.0001  <0.0001] <0.0001  <0.0001  <0.0001
7 + 7 - — F (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005[ <0.00005 <0.00005 <0.00005
7 bk 7 DA v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 = = N 2 (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
7 3 N 7 2 (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
7 7 7 = — b (mg/L)| <0.0001  <0.0001  <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
4 Y X B F A (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005[ <0.00005 <0.00005 <0.00005
4 v 7 = r & A (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001[ <0.00001 <0.00001 <0.00001
4 vV 7 m H A 7 (MIPC) (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
A4 Y ZF v F F T v (APD) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
4 7 v X v A&/ % (IBP) (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
4 v ¥ 2 7 57 v (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005[ <0.00005 <0.00005 <0.00005
= 2 F v FH A 7 (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
= ¥ 4 7 = v & A (EDDP) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005[ <0.00005 <0.00005 <0.00005
= b7 = v 7w oy 7 A (mg/L)] <0.0001 <0.0001 <0.0001 <0.0001| <0.0001  <0.0001  <0.0001
T RYPTY—A (= m AV —N) (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001[ <0.00001 <0.00001 <0.00001
T RALT (R YY) (mg/L)| <0.0001  <0.0001  <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
F ¥ b Y sz m A & v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
F x ¥ v 4 (A ¥ 8 ) (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
A UV ¥ b m B v (mg/L)] <0.0001 <0.0001 <0.0001 <0.0001] <0.0001  <0.0001  <0.0001
VY 2 N2 N 2 (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
B 7 = ¥ A b m — JL (mg/L)]| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
B U b (NAO) (mg/L)| <0.0001  <0.0001 <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
b/ VR A = A R (mg/L)| <0.0001 <0.0001  <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
b JU R 7 5 v (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
*x 7 5 2 ¥ (ACN) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
¥ ¥ -7 v v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
4 3 I = v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 wm A 7 v v 7 (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 vy = kv 7 = ¥ (CNP) (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001f <0.00001 <0.00001 <0.00001
7 w B U & Z (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
7 m wm % m = Jb (TPN) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
v 7 A v > (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
> 7 7 & A (CYAP) (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
D % = N (DCMU)  (mg/L)|  <€0.0001  <0.0001  <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
Y v m N = 2 (DBN) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
Y 7 wm A AR & (DDVP) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
DZANEKR P (= FAF A A ) (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
v ¥ *+ [ Jb (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
oo\ R oy 7 F v (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005] <0.00005 <0.00005 <0.00005
V2 < v N (CAT) (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
Y A Z R U ¥ (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
v A k s — F (mg/L)| <0.0001 <0.0001  <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
v A b U ¥ (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
Y A E 2 L — b (mg/L)| <€0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
vd A 7 Y J > (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
v A A = v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
¥ 7 v = Jb (mg/L)| <0.0001  <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
¥ v 5 2 (mg/L)|  <0.0001  <0.0001  <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
5 3 v 71 Jb 7 (mg/L)] <0.0001  <0.0001 <0.0001 <0.0001] <0.0001 <0.0001  <0.0001

- 131 -




2 KiEHER DO KE A
(2] B7REKYG
(2) BYbS % OSHE AT

©® 2 5k (BEEILE, Sl AiER)

£ K i A H H28.4.11 H28.7.11 H28.10.17 H29.1.16 TN /s Sy

F F 7 7 F — F A F  (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
F F N H 7 (mg/L)| <0.0001 <0.0001  <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
F N 7 A v 7 (MBPMC) (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
~ )} V4 =t =4 Jb (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
YU 7 v v & v (DEP) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
YooY 7 5 Y — b (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001] <0.0001  <0.0001  <0.0001
U 7o F U v (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
A i o % 2 K (mg/L)[ <0.0001 <0.0001  <0.0001  <0.0001] <0.0001 <0.0001  <0.0001
=4 ~ = N 2 (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
5 Y % v 7 = v (mg/L)]| <0.00001 <0.00001 <0.00001 <0.00001] <0.00001 <0.00001 <0.00001
oYY Rx—kr(ETY L —Fk) (mg/L)] <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
vy % 7 = v F F » (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
v U 7 F  H 7 (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
=4 = * = v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 A 7 = = /L (mg/L)|[<0.000005 <0.000005 <0.000005 <0.000005]<0. 000005 <0.000005 <0. 000005
7 x = bk m F F > MEP) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 = J 7 J v 7 (BPMC) (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
7 = v F A »  (PP) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
7 = v + = — |k (PAP) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
7 = v + Z ¥ I F (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
4 2 Z A K (mg/L)[ <0.0001 <0.0001  <0.0001 <0.0001] <0.0001  <0.0001  <0.0001
- vl 4 o — Jb (mg/L)| <0.0001  <0.0001  <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
- v 2 7 2 (mg/L)| <0.0001  <0.0001 <0.0001 <0.0001| <0.0001  <0.0001  <0.0001
7 7 w7 = ¥ r (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
7 JL 7 v va 2 (mg/L)| <0.0001  <0.0001  <0.0001  <0.0001] <0.0001  <0.0001  <0.0001
7 v F F 7 wmw — J (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001  <0.0001  <0.0001
v = D 2 N > (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
-7 = + %+ ) A (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
7 wm v a5 Y — b (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
v = =4 A g K (mg/L)| <0.0001  <0.0001  <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
7 wm X Y — L (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
7 = £ 7 5 K (mg/L)[ <0.0001 <0.0001  <0.0001  <0.0001] <0.0001  <0.0001  <0.0001
~ J N Jb (mg/L)| <0.0002  <0.0002  <0.0002  <0.0002| <0.0002 <0.0002  <0.0002
~ N N 7 = > (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
~N v Vv vz o\ v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001f <0.0001 <0.0001  <0.0001
N Y 7 = F w7 (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
~ N v V' v (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
N~ F 4 A2 Y v (mg/L)| <0.0001  <0.0001  <0.0001  <0.0001] <0.0001  <0.0001  <0.0001
N v 7 Z5 & 7 (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
Ny TN F Y (R a P ) (mg/L)| <0.0001  <0.0001  <0.0001  <0.0001] <0.0001 <0.0001  <0.0001
~N v 7 L k& — k (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001] <0.0001  <0.0001  <0.0001
A %2 F 7 ¥ — F (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
~ 5 F F v (<= 5 Y ) (mg/L)] <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
A = 7w oy 7 (MCPP) (mg/L)| <0.0001 <0.0001  <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
A v N JL (mg/L)| <€0.0001  <0.0001  <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
A vl Z % v Jb (mg/L)| <0.0001  <0.0001  <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
A F F F F > (DMIP) (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
A F X 4 A v v (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
A F I 7 Z k m t ¥ (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001  <0.0001  <0.0001
A k ) 7 v v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
A 7 = F & v F (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
A g = = s (mg/L)| <0.0001  <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
£ ) ES — L (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
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EPN %+ x v > (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
A4V F Y F F A X Y (mg/L)]| <0.00005 <0.00005 <0.00005 <0.00005( <0.00005 <0.00005 <0.00005
A4 Y 7 = v K A F F Y » (mg/L)]<0.000005 <0.000005 <0.000005 <0.000005<0. 000005 <0.000005 <0. 000005
= v F %2 J 7 = — b (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
CNP- 7 N J & (mg/L)]<0. 000001 <0.000001 <0.000001 <0.000001|<0.000001 <0.000001 <0.000001
7 )L v U AR X F X VU v (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001] <0.00001 <0.00001 <0.00001
2 A4 7T Y v A F Y v (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
7 xz=bruFF A F Y (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
MPP % L A& F 2 F (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
MPP 2 JL & v (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
MPP %+ ¥ v > (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
MPP 4 % ¥ v X JL &R F ¥ K (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
MPP A+ % YV v Z b A& v (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
7 2 2 K Z A F YV r (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
7 v & 7 F K F 7 v % (mg/L)] <0.0001 <0.0001 <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
~ 7 F X v F F VvV r (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 v % I F K (mg/L)|[ <0.0001 <0.0001  <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
A4 I % 7 v 7 U F (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
> 7 a  F v — L (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001f <0.0001 <0.0001  <0.0001
=4 Z 7 =1 N 2 (mg/L)| <0.0001  <0.0001 <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
7 o Z 7 7 I F (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
7 = - v b (mg/L)| <0.0001  <0.0001  <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
~r  F F ¥ Y v (mg/L)| <0.0001  <0.0001  <0.0001  <0.0001] <0.0001  <0.0001  <0.0001
gz Va = v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
A S 7 m — b (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
7 R Y T L -S- A F b (mg/L)| <0.0001 <0.0001  <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
7 A k ) > (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
A4 F X v T 4 K (mg/L)| <0.0001  <0.0001  <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
4 <= Y 2 A 7 v r (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 = =@ JF Y — P (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
— F % ¥ 2 4 7 um v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
- F X v ¥ =  F (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001  <0.0001  <0.0001
F X Y 7 L X L (mg/L)] <0.0001  <0.0001 <0.0001  <0.0001] <0.0001  <0.0001  <0.0001
*+ * Va 2 Jb (mg/L)| <0.0001  <0.0001  <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
* ¥ o &k v ¥ = F b (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
7 wm  F 7 = ¥ v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 wm < 7 = / ¥ F (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 v L F — )L A F L (ICTP) (mg/L)| <0.0001  <0.0001  <0.0001 <0.0001| <0.0001 <0.0001 <0.0001
7w b B U R X A F L (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
Y s m 7 = » F F v (ECP) (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
v 7 = 2 v > (mg/L)| <0.0001 <0.0001  <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
Yy wmw g 7 v v 7 (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
v A2 v 7 v v o (mg/L)| <0.0001  <0.0001  <0.0001  <0.0001] <0.0001  <0.0001  <0.0001
v J 7 7 5 v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
Y 7 = /J =3 F v —  (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
Y 7 g N v X m v (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
> 7 mw oo F Y — b (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
v - = v = JL (mg/L)| <€0.0001  <0.0001 <0.0001  <0.0001| <0.0001 <0.0001 <0.0001
¥ A a3 F v — b (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
Y X F v v & & (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
> 5 7 g F 7 = v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001  <0.0001  <0.0001
DV N A ¥ ) v (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
F 7 oy v ZF R (mg/L)| <0.0001  <0.0001 <0.0001 <0.0001] <0.0001 <0.0001  <0.0001
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F 7 A % ¥ A (mg/L)| <0.0001  <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
F 7 JL va 2 K (mg/L)[ <0.0001 <0.0001  <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
F hF 7 LB iR A CWP) (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
S F 7 = F Y — b (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
5 7 7 =/ ¥ F (mg/L)] <0.0001 <0.0001 <0.0001 <0.0001f <0.0001 <0.0001  <0.0001
U X X P Ny 7 = F b (mg/L)| <0.0001  <0.0001  <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
Uo7 oo T Y — b (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
> 7 v 7 = U K (mg/L)[ <0.0001 <0.0001  <0.0001  <0.0001] <0.0001 <0.0001  <0.0001
= va N [ 5 2 (mg/L)| <0.0001  <0.0001  <0.0001  <0.0001] <0.0001 <0.0001  <0.0001
Xy o 7k T Y — L (mg/L) <0.0001  <0.0001  <0.0001 <0.0001] <0.0001  <0.0001  <0.0001
=4 A bk =t v > (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
g Y R 7 a o F o (mg/L)] <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
U I Ny 7 A F o (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
U 2 Rk AR X F L (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
7 7 A b~ =4 JL (mg/L)| <0.0001  <0.0001  <0.0001 <0.0001f <0.0001 <0.0001  <0.0001
7 v 7 ¥ Kk v 7 (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 v 2 = L (DCPA) (mg/L)| <0.0001 <0.0001  <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
v = 2% 7N 2 (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
7 m % L X » b (BPPS) (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001  <0.0001  <0.0001
7 v RN ¥ A JL (PHO) (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001] <0.0001 <0.0001  <0.0001
7 = A 3 ) v (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
Ny X A4 A& B v T (mg/L)| <0.00005 <0.00005 <0.00005 <0.00005| <0.00005 <0.00005 <0.00005
) ¥ g 2 (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
) 2 VY U K (mg/L)[ <0.0001 <0.0001  <0.0001  <0.0001] <0.0001  <0.0001  <0.0001
£/ 7 n P A& Z (mg/L)| <0.00001 <0.00001 <0.00001 <0.00001| <0.00001 <0.00001 <0.00001
] = = = > (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
7 Y % ¥ X b v v ¥ (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
A -7 = v * > (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
V4 = = ES 7 (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001] <0.0001 <0.0001  <0.0001
V2 va o = > (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
> = . 7 v  — J (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
kv 7 ow &K Z A F b (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
Nm AR gL 7 om v A F b (mg/L)| <0.0001  <0.0001  <0.0001  <0.0001] <0.0001  <0.0001  <0.0001
v 7 = ) w7 Z (mg/L)| <€0.0001 <0.0001 <0.0001 <0.0001] <0.0001  <0.0001  <0.0001
Yy 7 o X ¥ 7 = ¥ (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
7 5 ¥ =z g 7 v v (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
7 S K v = Jb (mg/L)| <0.0001  <0.0001  <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
~ v ) K (SAP) (mg/L)| <0.0001  <0.0001  <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
AN A gL 7 oa v A F L (mg/L)[ <0.0001  <€0.0001  <0.0001  <0.0001] <0.0001  <0.0001  <0.0001
Rz + v Jb (mg/L)| <0.0002  <0.0002 <0.0002  <0.0002| <0.0002 <0.0002  <0.0002
FLZ @R 2 AFLF XY 2 (ng/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001  <0.0001  <0.0001
+ x ¥ ¥ 7 v r (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
7 o A b % ¥ = b (mg/L)| <£0.0001 <0.0001 <0.0001 <0.0001f <0.0001 <0.0001  <0.0001
) Z o -2-7 FFF ) (mg/L)| <0.0001 <0.0001  <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
= + w 7 = ¥ (NIP) (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001| <0.0001 <0.0001  <0.0001
-7 = 2% v > (mg/L)| <0.0001 <0.0001 <0.0001  <0.0001| <0.0001 <0.0001  <0.0001
- 4 b YU F — K (mg/L)| <0.0001 <0.0001 <0.0001 <0.0001] <0.0001  <0.0001  <0.0001
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2 KiESER DO KERA
(2] B7IREKE
(2) BALF K O E A

@ 3 5k (EdEER v - ERR LI, SO 5 %)

£ 7K A A H H28.4.11 H28.5.16 H28.6.20 H28.7.11 H28.8.24
PN & i} i} & i =

= tieh (© 12.0 18.1 22.1 29. 1 25.5

7K i (©) 12.8 17.9 20.0 21.5 21.8

— 5 A ({8 /mL) 0 0 0 0 0

N W (MPN/100mL) 0 0 0 0 0

il fird [ fie = %= (mg/L) <0. 004 <0. 004 <0. 004 <0. 004 <0. 004
HBMEEZEKOHEWEBREE R (mg/L) 0.96 0.78 0.82 0.78 1.0

7 v # K N E O AW (mg/L) 0.10 0.10 0.11 0.11 <0. 08
TILI=T AR DREONEW (mg/L) 0.04 0. 05 0. 05 0. 04 0.03

% Kk O = o I A& W (mg/L) <0.01 <0. 01 <0. 01 0. 01 <0. 01
~ v H kRN EOWE D (mg/L) <0. 005 <0. 005 <0. 005 <0. 005 <0. 005
i 1k L) 4 7+ N (mg/L) 8.7 8.1 9.4 11 13

IV UL, TRy LEGEE) (mg/L) 55 54 57 59 44

B (& A ¥R FE (T0C) © &) (mg/L) 0.4 0.6 0.5 0.3 0.7

p H & 7.2 7.2 7.2 7.1 7.0

5= = HEhL EEARL ORBREARL ORBERL HEAhL

5= B Hehl RBELRL RBEARL OBEARL BEALL

&) E (BD) <0.5 <0.5 <0.5 <0.5 0.5
) JE () 0.1 0. 1 0.1 0.1 0. 1
V5 ‘éé.’ i) ES (mg/L) 0.6 0.8 0.8 0.8 1.0

B O s FE (T O N ) <1 < {1 <1 <1
Bt & 5 7= i L) (f /mL) 0 1 0 1 0

if & P i#F Jie (MPN/L) 0 1 3 0 0

x %% B (MPN/100mL) 0 0 0 0 0

fit 1% A 7+ N (mg/L) 17 16 18 21 11

A 7 L ol ) B (mg/L) 39 41 43 41 27

H = 1= i R (mS/m) 15.7 15.2 16.6 17.2 13.6
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H28.9.26 H28.10.17 H28.11.14 H28.12.19 H29.1.16 H29.2.13 H29.3.21 TN BN 1)
i E§] & 5 i fii& 5] — -
26.0 15.9 13.0 6.6 0.9 5.1 8.2 29. 1 0.9 15
18.5 16.8 13.1 9.0 7.1 6.7 10. 0 21.8 6.7 14
0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 0
<0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004 <0. 004
0. 90 0.97 1.0 1.0 1.0 0.98 0.98 1.0 0.78 0.93
<0. 08 0.08 0. 09 0. 08 <0. 08 0. 10 0.10 0.11 <0. 08 <0. 08
0.03 0. 04 0.03 0.03 0. 02 0. 04 0.03 0. 05 0. 02 0.04
0. 01 <0. 01 <0. 01 <0. 01 <0. 01 <0. 01 <0. 01 <0. 01 <0. 01 <0. 01
<0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005 <0. 005
8.4 8.6 9.6 8.5 8.5 9.0 12 13 8.1 9.6
45 55 58 58 56 60 60 60 44 55
0.4 0.4 0.4 0.5 0.4 0.5 0.5 0.7 0.3 0.5
7.2 7.2 7.2 7.2 7.1 7.3 7.1 7.3 7.0 7.2
HEpL  BEZL ORWRL BERL HERL BERL O RBESRL — — HERL
Bl BERL BERL OAEEARL AW L BERL BERL B
<0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5
0. 1 0. 1 <0. 1 0. 1 0. 1 0.1 0.1 <0. 1 <0. 1 0.1
0.8 0.7 0.8 0.6 0.6 0.6 0.6 1.0 0.6 0.7
<1 <1 <1 <1 {1 <1 <1 <1 {1 <1
4 0 0 0 0 0 0 4 0 1
1 0 1 0 0 0 0 3 0 1
0 0 0 0 0 0 0 0 0 0
13 16 18 18 21 20 20 21 11 17
32 40 41 41 37 41 39 43 27 39
12.9 15.5 16. 6 16.3 16.2 17.0 17.7 17.7 12.9 15.9
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(

H28.4.11 H28.5.[16
Bac.| 1 Acanthocecras zachariasii
2 Asterionella formosa 49 3, 600 26
3 Aulacoseira ambigua 10 5 6 49
4 A. granulata 10 540 (2, 0i00
5 Cyclotella spp. & Stephanodiscus spp. 130 1, 000 97
6 Fragilaria crotonensis 5 250 38 (
7 Melosira varians 11 6 51
8 Nitzschia acicularis 1 4
9 Nitzschia actinastroides 34
10| Skeletonema potamos 5 320 15
11 S subsalsum 6
12| Synedraacus 290
1 3] Synedraulna 5
14 S. ulna var. oxyrhynchus 1 2
15| Thalassiosira pseudonana 34 4:2 0 2 3
16| Urosolenia spp. 1
17 159 101 285
Chl. | 1 8 Carteria spp. & Chlamydomonas spp. 1 7:0
19 Monoraphidium spp. 1 19
2 0| Mougeotia spp.
2 1] Pandorina morum 9 2|4 4
2 2| Scenedesmus spp. 1 b 4
23 13 3 10 2 36 . (B012
Cya | 2 4 Anabaena spp. ) 11
2 5|  Anabaena spp. 7.:3
2 6| Microcystis spp. 0.0]19
27 1
Fla | 2 8] Ceratiumhirundinella 1
2 9] Cryptomonas spp. 33 1:10 3]
3 0] Dinobryon spp. 3 3i3
3 1| Mallomonas spp. 12
3 2| Peridinium spp. 11 ) 2
33 150 1 40 25%0
34 7 > 6
Pro.| 35 6 3:5 16
3 6| Tot. 6 4:0 1,309B B, 252 4
37 Bac. 4 1:5 6, 6:40 2, 8P 9
38 Chl 15 | 3 99 5i2 31
39 Cya 19 S
40 Fa 2 0i4 32 3 287
4 1] Pro. 6 3i5 16
42 Oth. 1 1
1 1mL
1mL
1 <
2 Anabaena Aaffinis, A.mendotae, A.smithii
Anabaena Acircinalis, A .crassa, A.mucosa, A.planctonica, A.ucrainica
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H28. 7. 11 H28. 8.4 H2[BH298..2161 . H248 HP @. 1 2|.HI299 . RRKR23A. J.62 1
1 2 41 1 9 1 5 ] 1
2 1:3 10 1 3 20 47 9D 10 37(0
3 2:i1 3 3 8 q 5 5
4 , 000 96 3 3 26 ( 119 0 77 31 38 3.
5 7:1 1 70 8|7 824, ®6:0 0 L, 5p0 3114 00 |2, 2:00
6 1:0 14 4 25 4 5 35 1 2 14
7 1:4 3 3) 1 3 1
8 1 2 1 )
9 16 4
10 1 0 2 702, 500 99 1:20 19 1120 28
11
12 2 20 1 140 18 5 5 ]
13 4 6
14 2 1 2 19
15 ) 1 17 1180200 2, 4D ® 7:0 370 219 6 4
16 3 3:3 15 4 g 1
17 25 8 4]0 465 4 17 2 89 221 12C 444
18 3 3 2 4:0 1 1 1 q
19 3 3 1 7 20 210 120 11 1
20 5 1 7 / 15 18 y
21 1 2 1
22 7 B 2 6 5 2 3 1
23 58 0(141:6. P1 3.10/05 B. 004 B2. post 83. 0/0B 9 2 37 4 213 2
2 4 50 0. 0:06 ). 0B 9 0. 0:37
25 94 1.:5 0. 040 3.93 |0. 387 ). 0p8
26 0 61 0.@80|57 D). 023 0.234 0] 04i1 0.:001
27 1 3./183 0. 1|81 :0. 14 2
28 ) 2
29 40 3 1:7 6 6 3 3 5 10 6
30 1 |
31 1 ! 1 9 3 6 4
32 13 1 1i3 13 3 1]0 5
33 80 6 2i4 1 70 2350 77 3GO0 580
34 7 6 11 29 2 )
35 2:7 1 5 21 4 17 1]2 16 7
36 1i1 71 1, 3i6 49| 9 2:3 67 622, 1i1 4 3, 1:585|4, 9055|112, 4335|3, 2:545
37 4:5 7 1, 3BA 0:5 6, 5114 5, 6P O 21, 7C1 1249460012, 6:2 1
38 3 6 13 § 9 4 7 38 11 37 1|12 5] 198 5 51
39 8:2 4 <1 2 <1 < 1 q1 <1 1 4 4 <1 <1 <1 2I<1
40 5i2 9 15 14 49 269 328 9|1 B 2 6
41 2:7 1 5 21 3 7 17 1|2 16 7
4 2 1 <1 <1 2 <1 1 2
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H28.4.11 H28.5.[16
Bac.| 1 Acanthocecras zachariasii
2 Asterionella formosa 34
3 Aulacoseira ambigua 19 4
4 A. granulata 39 4
5 Cyclotella spp. & Stephanodiscus spp. 1 1
6 Fragilaria crotonensis
7 Melosira varians 6
8 Nitzschia acicularis
9 Nitzschia actinastroides
10| Skeletonema potamos 9
11 S subsalsum
12| Synedraacus 6 2
1 3] Synedraulna
14 S ulna var. oxyrhynchus
15| Thalassiosira pseudonana 3
16| Urosolenia spp.
17 6 17 8
Chl.| 1 8 Carteria spp. & Chlamydomonas spp. 1 1
1 9] Monoraphidium spp. 4
2 0| Mougeotia spp.
2 1] Pandorina morum
2 2| Scenedesmus spp.
23 2 ] 5
Cya | 2 4 Anabaena spp. )
2 5|  Anabaena spp.
2 6| Microcystis spp.
27
Fla | 2 8] Ceratiumhirundinella
2 9] Cryptomonas spp.
3 0| Dinobryon spp.
3 1| Mallomonas spp.
3 2| Peridinium spp. 2
33
34
Pro.| 35 1
36| Tot. 12 1:8 4 2 2
37 Bac 7 175 16
38 Chl 3 ) 5
39| Cya
40 Fa 2
41 Pro. 1
4 2| Oth.
1 1mL
1mL
2 Anabaena Aaffinis, A.mendotae, A.smithii
Anabaena Acircinalis, A.crassa, A.mucosa, A.planctonica, A.ucrainica
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H2 8. .11 H28. . PH2 8H2@BH23872161 . 14 H28. 12/. 19 HR9. 1.
1 2
2 15
3
4 4:0 1 7
5 7 3:0 46 441, 800 51
6
7 4 1
8
9
10 72 2 2
11
12 31 1
13 1
14 1
15 1:2 39 2
16
17 1 4 14 4 6 4 4 48
18
19 5 1 2 13 5
20 2
21 1
22
23 1 1
24 8
25
26
27
28 2 8
29 5
30
31
32 1
33 1:00
34
35 ) 6
36 2:0 8 14 12 138 8 3 4 5 , 881 6153
37 5 6 14 1(2 131 81 50 (1, 8748 53
38 1 1 / 1 3 13 G
39 8
40 1:3 3 1
41 1 0 6
42
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(

H28.4.11 H28.5.[16
Bac.| 1 Acanthocecras zachariasii
2 Asterionella formosa
3 Aulacoseira ambigua
4 A. granulata
5 Cyclotella spp. & Stephanodiscus spp. 0.10
6 Fragilaria crotonensis
7 Melosira varians
8 Nitzschia acicularis 1.80 ) . 8]0
9 Nitzschia actinastroides
10| Skeletonema potamos
11 S subsalsum
12| Synedraacus
1 3] Synedraulna
14 S ulna var. oxyrhynchus
15| Thalassiosira pseudonana
16| Urosolenia spp.
17 0.10
Chl. | 1 8 Carteria spp. & Chlamydomonas spp. 0.70
1 9] Monoraphidium spp.
2 0| Mougeotia spp.
2 1] Pandorina morum 0. B5
2 2| Scenedesmus spp.
23 0.0D5
Cya | 2 4 Anabaena spp. )
2 5|  Anabaena spp.
2 6| Microcystis spp.
27
Fla | 2 8] Ceratiumhirundinella
2 9] Cryptomonas spp.
3 0| Dinobryon spp.
3 1| Mallomonas spp.
3 2| Peridinium spp. 0.5 ) . 0[5
33
34 0.05
Pro.| 35 0.20 ) . 110 .05
3 6| Tot. 2.15 0. 35 1. 70 0
37 Bac 1.90 ) . 8]0 .10
38 Chl 0. B5 9. 7|0 0.0D5
39| Cya
40 Fa 0.5 ) . 110
4 1] Pro. 0.2 ) . 110 .05
4 2| Oth.
1 1mL
1mL
2 Anabaena Aaffinis, A.mendotae, A.smithii
Anabaena Acircinalis, A .crassa, A.mucosa, A.planctonica, A.ucrainica

H28.

.15

0.



H28. 7. 11 H28. 8. PH#28H2BH2987.2161 . 14 H28. 12]. 19 HP9.1. 16 H2 ¢
1
2
3
4
5 0.5 0.905
6
7
8 0.i85 0.985 ) . 0|5 0f. 35 0.:30 0.
9
10
11
12
13 0.5
14
15 0.15
16
17 0: 25 0.]10 0. 20 . 0% 0] 05 0.0 0. 10 0
18 0.65
19
20 0.05
21 0] 50 0.:135 0.05 D . 1:0 0. PR5
22
23] 0: 05| 0.i05 0.20 ). 0|5 0. 09 0.i10 0.60 D). 05 O
2 4
25
26
27
28
29
30
31
32 0.9©05 ) . 5 0.20 0.15 ) . 0|5 0. 05
33 0: 05
34 0.10 0. 30
35 0:20 0.130 0.10 0.15 ) . 1|5 0. 60
36f] 1:40/,0.555 0. 45 (.35 0]35:0.]05 0. 35 0.45 0)J10:0.125 0.1
37 1:10 0.110 0.20 . 1% 0J10 0.i15 0. 65 0
38 0: 05| 0.i555 0. 35 Q.05 020 0.05 .10 0.10 0J10 O.
39
40 0:05 0.]05 0. G5 0.20 0.15 ) . 0|5 0f. 35
41 0: 20 0.130 0. %20 0.10 0.15 ) . 1|5 0f. 60
4 2 0. 05 0.]/]05 0. 05
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(

H28.4.11 H28.5.[16 H28.
Bac.| 1 Acanthocecras zachariasii
2 Asterionella formosa
3 Aulacoseira ambigua
4 A. granulata
5 Cyclotella spp. & Stephanodiscus spp.
6 Fragilaria crotonensis
7 Melosira varians
8 Nitzschia acicularis 0.85 ) . 110
9 Nitzschia actinastroides
10| Skeletonema potamos
11 S subsalsum
12| Synedraacus
1 3] Synedraulna
14 S ulna var. oxyrhynchus
15| Thalassiosira pseudonana
16| Urosolenia spp.
17 0.25 ) . 2]0 0f. 05
Chl. | 1 8 Carteria spp. & Chlamydomonas spp. 0.30
1 9] Monoraphidium spp. 0.05
2 0| Mougeotia spp.
2 1] Pandorina morum
2 2| Scenedesmus spp.
23 0.0D5 D . 05
Cya | 2 4 Anabaena spp. )
2 5|  Anabaena spp.
2 6| Microcystis spp.
27
Fla | 2 8] Ceratiumhirundinella
2 9] Cryptomonas spp.
3 0| Dinobryon spp.
3 1| Mallomonas spp.
3 2| Peridinium spp.
33
34
Pro.| 35
3 6| Tot. 0.30 p. 05 0. 65 0./]05 0.05
37 Bac 0. 30 ) . 3|0 0f. 05
38 Chl 0.p5 ©. 3|5 0 05
39| Cya
40 Fa
4 1] Pro.
4 2| Oth.
1 1mL
1mL
2 Anabaena Aaffinis, A.mendotae, A.smithii
Anabaena Acircinalis, A .crassa, A.mucosa, A.planctonica, A.ucrainica



H28. 7. 11 2 8. .2 4 H2B. 9. 26HAH®2 8120194 7HRAQ28111614H29.
1
2
3
4
5 ) 5 0.20 ) . 715 1. 1 5
6
7
8 0.i05 0.5 1(0
9
10
11
12
13
14
15 0.9805 0.10
16
17 1 5 0 0]. 10 0.605 0|5
18 O0:05
19
20
21 0.05 D . 1:0
22 0.05
23 0.605 ). 0 0]. 10 0.605 3|0
24
25
26
27 0.15 ) . 1|5
28
29
30
31
32 0.10
33 ) 5
34
35
36] 0:10 0.125 .05 G. 10 0:10[0.i115 0.35 0.0% 0:45
37 0: 05 0.120 0. 20 .10 0] 05 0.20 85
38 0: 05 0.05 D . 10 Of. 05 0.:05]10. 5 00 .15 3]0
39 0.15 ) . 1|5
40 ) 5 0.10
41
4 2 0. 05
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H28.4.11 H28.5.[16 H28.
Bac.| 1 Acanthocecras zachariasii
2 Asterionella formosa
3 Aulacoseira ambigua
4 A. granulata
5 Cyclotella spp. & Stephanodiscus spp.
6 Fragilaria crotonensis
7 Melosira varians
8 Nitzschia acicularis
9 Nitzschia actinastroides
10| Skeletonema potamos
11 S subsalsum
12| Synedraacus
1 3] Synedraulna
14 S ulna var. oxyrhynchus
15| Thalassiosira pseudonana
16| Urosolenia spp.
17 0.85 ) . 3]0 0f. 10
Chl. | 1 8 Carteria spp. & Chlamydomonas spp.
1 9] Monoraphidium spp.
2 0| Mougeotia spp.
2 1] Pandorina morum
2 2| Scenedesmus spp.
23
Cya | 2 4 Anabaena spp. )
2 5|  Anabaena spp.
2 6| Microcystis spp.
27
Fla | 2 8] Ceratiumhirundinella
2 9] Cryptomonas spp.
3 0| Dinobryon spp.
3 1| Mallomonas spp.
3 2| Peridinium spp.
33
34
Pro.| 35
3 6| Tot. 0.5 ) . 3|0 0. 10
37 Bac 0.5 ) . 3|0 of. 10
38 Chl.
39| Cya
40 Fa
4 1] Pro.
4 2| Oth. 0. 05
1 1mL
1mL
2 Anabaena Aaffinis, A.mendotae, A.smithii
Anabaena Acircinalis, A .crassa, A.mucosa, A.planctonica, A.ucrainica
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H28. 7. 11 28. 8.4 H2B. 9. 26HAH®2 812019 7HRA28111614H29.
1
2
3
4
5 0.5 ) . 3|0 1. 20
6
7
8
9
10
11
12
13
14
15 0.10 ). 0
16
17 0: 05 .]10 0. 45 ) . 215 0]. 05 0.:10 0. P20
18
19 0.985
20
21
22
23] 0: 05 0.865 0.865
2 4
25
26
27 0.10
28
29
30
31
32
33
34
35
360 0: 10 .10 0. %O C. 45 0| 45 0.5 0. 40
37 0: 05 .11 0 0. 45 ) . 315 0]. 15 0.:40 1. 40
38 0: 05 0.10 0.905
39 0.10
40
41
4 2
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H28.4.11 H28.5.[16 H28.
Bac.| 1 Acanthocecras zachariasii
2 Asterionella formosa
3 Aulacoseira ambigua
4 A. granulata
5 Cyclotella spp. & Stephanodiscus spp.
6 Fragilaria crotonensis
7 Melosira varians
8 Nitzschia acicularis
9 Nitzschia actinastroides
10| Skeletonema potamos
11 S subsalsum
12| Synedraacus
1 3] Synedraulna
14 S ulna var. oxyrhynchus
15| Thalassiosira pseudonana
16| Urosolenia spp.
17 0.20 ) . 1])0 0f. 05
Chl. | 1 8 Carteria spp. & Chlamydomonas spp.
1 9] Monoraphidium spp. 0.05
2 0| Mougeotia spp.
2 1] Pandorina morum
2 2| Scenedesmus spp.
23
Cya | 2 4 Anabaena spp. )
2 5|  Anabaena spp.
2 6| Microcystis spp.
27
Fla | 2 8] Ceratiumhirundinella
2 9] Cryptomonas spp.
3 0| Dinobryon spp.
3 1| Mallomonas spp.
3 2| Peridinium spp.
33
34
Pro.| 35
3 6| Tot. 0.20 ). 1)5 0f. 05
37 Bac 0.20 . 110 0f. 05
38 Chl 0.05
39| Cya
40 Fa
4 1] Pro.
4 2| Oth.
1 1mL
1mL
2 Anabaena Aaffinis, A.mendotae, A.smithii
Anabaena Acircinalis, A .crassa, A.mucosa, A.planctonica, A.ucrainica
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H28. 7/.H218 . 8[. 2 4 28.9.126 H213.10. 7 H28 EHZ.Q.lj.IHBS.HZQZ)..]SQ
1
2
3
4
5 0. 35 1. 40
6
7
8
9
10
11
12
13
14
15 0.15 0.9805
16
17 0: 05 0.]05 0.30 .20 25 0.i25 0. 15 0
18
19
20
21 D 5
22 0.05
23] 0:10 D 5 0.865
24
25
26
27 0.9605
28
29
30
31
32
33
34
35
360 0: 15 0.]05 0.30 0.1 0] 20 0.45 0. 25 b 0. 55
37 0: 05 0.]05 0.30 . 20 40 0.25 . 55 1
38 0:10 L O D 5 0.905
39 0.985
40
41
4 2
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